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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180131
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5861802015 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

There is a certain relationship between two given words on one side of : : and one word is given on another side of : :
while another word is to be found from the given alternatives, having the same relation with the word as the words of
the given pair.

Choose the correct alternative.

Grapes: Bunch : : Singer: ?
Options:
1. = Groups

? w Crew

3.« Chorus

4. » Jagjit Singh

Question Number : 1 Question Id : 5861802015 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

L % TF AR T @ el F §9 v AfReg gEv & 3R F gml HX v oeg fomm mmam €, St
BT 1T et & © 370 U= @IS ¢ SHFT 37 oaec © T8 O™ g S BU v AT F oSy &+ &=
gl

T e T4

I ;BT AEF : ?

Options:

1.« W



2y EE g

3. « Hedld

+

4« ST f@E

Question Number : 2 Question Id : 5861802016 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

There is a certain relationship between two given numbers on one side of : : and one number is given on another side of
: : while another number is to be found from the given alternatives, having the same relation with the number as the
number of the given pair.

Choose the correct alternative.

24: 264:: 52: ?
Options:

1. = 288

P @ 572

3w 445

A % 390

Question Number : 2 Question Id : 5861802016 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

L1 % U AR & gEwHt & @9 s ARua mew g, AN % gul 3R us "o & % g, e
feT 71 Teenl # ¥ 37T TEOT WIS § SHHT 30 HEAT ¥ 9@ 399 @ Jr {r v g Fr gt F
T 2

wer e T

24 : 264 :: 52 : 7

Options:



1. « 288

2. v bB72
3. % 445
4 % 390

Question Number : 3 Question Id : 5861802017 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A group of three interrelated word is given. Choose a word from the given alternatives that is similar to the given words
and hence belongs to the same group.

Ornithology : Seismology : Ethnology
Options:
1. %= Ostrich

? % Names

3.« Occultism

/. » Earthquakes

Question Number : 3 Question Id : 5861802017 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

e TER_ TS edl H U WHE fear g1 v e fwedt ¥ a7 a9+ S T aw et &
A & A 3§ TR 38 §Ag | @99d @

HgraTs : deATars | vy

Options:



7 ow #AH
3 o BEEE
4, % T

Question Number : 4 Question Id : 5861802018 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A group of three interrelated numbers is given. Choose a numbers from the given alternatives that is similar to the given
numbers and hence belongs to the same group.

156 : 221 : 143
Options:

1. % 192

7 % 224

Question Number : 4 Question Id : 5861802018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

de Y FEfd HEansit #1 ve wAg, oI aan g1 T v Rt ¥ @7 wewr 9+ S & o) wenst
* FA & AR 3@ IR 3 TEE ¥ e @l

156 : 221 : 143

Options:




1. = 192

2w 224
3 % 238
4. v 117

Question Number : 5 Question Id : 5861802019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the same as Poet, Hunter, and Judge?
Options:
1. = Crop

? % Food

3. « Farmer

4. = Justice

Question Number : 5 Question Id : 5861802019 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

=T 7 ¥ Fiaar ToeT o9, i ik = & g\@=ar @ar 22

Options:
1_ % A



Question Number : 6 Question Id : 5861802020 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Four pairs of words are given out of which the words in three pairs bear a certain common relationship. Choose the pair
in which the words are differently related.

Options:
1. % Bihar —Patna

? % Kerala — Trivandrum

3 Nagaland — Gangtok

4. » Assam— Dispur

Question Number : 6 Question Id : 5861802020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et F AR A3 RE aw § B & &9 S & et F §9 v At wAe wEy | 9w e g9
orgd o @ 9} ¥ TIE9T g 2

Options:

1. » @R - 9ear

2 % e - FEEH



3 v AFME - TR

Question Number : 7 Question Id : 5861802021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Six girls are standing in a circle formation, facing the center. Asha is to the left of Pinky. Soni is between Aarti and
Vijaya. Hema is between Asha and Aarti. Who is standing to the left of Vijaya?

Options:
1. « Pinky

7 % Soni

3. % Aarti

/. =% Asha

Question Number : 7 Question Id : 5861802021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BF TSRl U JaTRR B & TN 3R T g AR 5T T FT HE W F Feq o AT gl 3mer T &
¥ HT @ ¥ A IR AR B & i @@ g1 A amen A dRdr F = g e F 9w aR

HleT T &2
Options:
1. v e



A, % TR

Question Number : 8 Question Id : 5861802022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

My school is in the East of my house. Temple is North of my house and Market is South of my house. If all are at equal
distance from my house, in which direction the Temple is with respect to the School?

Options:
1. ® North — East

? « North — West
3 % South—East

/. = South— West

Question Number : 8 Question Id : 5861802022 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T TES AT O 9@ Row #F §, ARy AY 9w F seaw fuw # § A s Ay av Fr ffor e 7 2
3 T Wl A W F FAF g W E, O AT, Te & wey A e v & g {2

Options:

1. = 3o} - 99

&



Question Number : 9 Question Id : 5861802023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sachin, Sahil, Sandhya. Sani, Sanju. Saurabh, Shweta and Sunil are sitting around a round table in the same order for
lunch at equal distance. Their positions are Anti-clockwise. If Sandhya sits facing East, then in which direction Sanju is
facing?

Options:
1. #= North — East

? « North

3 % South-—East

/. = South

Question Number : 9 Question Id : 5861802023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"=, @ifed, Fea, W=, 69, Wi, @ar AR golle, o= & T oF e A9 F 9 3R FAe Rt
W SET FH H 9 g1 A 12Ul RUTET gl Ife HedT 99 Hr A F8r g, O Fe F Tl Fmm gene

Options:

Question Number : 10 Question Id : 5861802024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sheet of paper in fig X is folded to form a cube. Which will come opposite to face showing */*?

Options:

1.« @

2. *

3, % =

4 % &

Question Number : 10 Question Id : 5861802024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s X & &6 7 va ofie & Algel U O o137 747 g SHHT S 967 @ w®r g, 38+ &
frafa F=ar gem?

&

Options:

A



Question Number : 11 Question Id : 5861802025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Children A, B. C. D. E. F and G are standing in a line. F is to the left of A and right of B. D is between G and B. E is
standing left of C and G 1is right of C. Who is standing at the left extreme?

Options:
1. & C

Question Number : 11 Question Id : 5861802025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T=IA B CDEF3IRGUEFARAATEIF,AFTEINTTB FaE AT Tl D, G 3k
BEF oA GIT T EFCFawger g it G C F v @er gl 798 5 3% ol @=r 2

Options:



Question Number : 12 Question Id : 5861802026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S. T, U, V., X. Y and Z are sitting around a round table for group discussion. T is sitting third to the right of S and
between U and Z. Z is sitting third to the right of Y. V is sitting right of X. What will be the position of V?

Options:
1. % V issitting second to the left of T

2 x Vissitting between T and Z
3 Vissitting second to the left of Y

A, % Vissitting third to the left of S

Question Number : 12 Question Id : 5861802026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STUVX YN ZFE A AMG SO Aa AT F I ARSI T, SFad &
M AR UINR ZF T T Z Y F ¥ & Iy TUaT W §F37 81 V, X F 8 o8 AR Far 2
Vv #r Eufa =7 geire

Options:

1« V, T % a1 & gEY T 9T F3T gl

2. % V, T 3T Z & &= &7 a7 3



3 o V.Y FATH W T T I3 &I

4 % V, S %F AT F I TG W 3T 2

Question Number : 13 Question Id : 5861802027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

L Doby is sister of John and John is brother of Shreya.
II. Shreya is daughter Jones and sister of Jani.
III.  Doby is brother of Shreya and Jani.

If the first two statements are true, the third statement is:
Options:
1. = Tre

7 « False

3 x May be true

4. % Uncertain

Question Number : 13 Question Id : 5861802027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

. Ter ST Fr 587 § R T A Foaw g
Il 8T, Seg Fr 37 HT = F 58T

1. =& S AR ST T O g

I JUH ST FUT TWEr g, ar T HU:

Options:

1, » W&



2. v o d

3. » Tl g HHa gl

4« HARET B

Question Number : 14 Question Id : 5861802028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Anas. Bipin, Chandan. Dev, Easa and Fatima are friends. No two friends are of the same age, but all have birthdays on
the same date. The youngest is 23 years old and the oldest is 28 years. Easa is somewhere between Chandan and Anas.
Dev is order than Bipin. Fatima is older than Chandan. Anas is oldest and Chandan is youngest among all.

Which of the following is true?
Options:
1. » Bipinis 24 years old

2 Anasis 28 years old

3 » Chandan is 25 years old

/. » Fatimais 27 years old

Question Number : 14 Question Id : 5861802028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3w, B, 9e=, 39, sur 3k wfawr aeg &1 F1% o o e TAF 37 & A7 £, ofa mafr =
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Options:



1 « = & 33 24 9 81

2, AW H 3H 28 T g

3. » & #T 37 25 T gl

A« WITGHAT #T 37 27 T g

Question Number : 15 Question Id : 5861802029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the water image of?

Options:




Question Number : 15 Question Id : 5861802029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e &1 Jor 7 oY (FeT /) F1 g




Question Number : 16 Question Id : 5861802030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rohan looked at his watch and told his sister Rima that it was 6:23 pm. But Rima told him that he had misread the long
hand for short hand and vice-versa, What was the correct time?

Options:
1. ¢ 4:33 pm

7 % 4:23 pm

REE" 4:27 pm

4 = 4:15 pm

Question Number : 16 Question Id : 5861802030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e & TSI @R HIeAT 5ga7 JAT 7 oaar &F o7 & 6:23 5§ ofh7 &Ar & 39 59w F 3us o
$r 53 g #F o A o g3 # 99 gAw 0w § 9w 9Ag sea o7 W 8, WE THT a4 On?

Options:

1. « 433 pm
2w 4123 pm
3w 427 pm
4. = 4715 pm

Question Number : 17 Question Id : 5861802031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Six friends are sitting in a row in a cinema hall. Karan is sitting between Vijay and Rakesh. Vjay is sitting next to Mukti.
Mukti is sitting next to Bakta, who is sitting on the extreme left and Dinesh is sitting next to Rakesh. Who are sitting
adjacent to Vijay?

Options:
1. + Mukti and Karan

? % Bakta and Mukti

3. ® Dinesh and Rakesh

/] % Rakesh and Bakta

Question Number : 17 Question Id : 5861802031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v fAAAT gl & OF SFd TF FaR H 58 1 0 ey i veer & @ A dor g ew glea F
sITer H 43T 21 Al F9ar F Fevel H A8 g, S G a5 AW 38 § AR T v F v # Fav g
s & uw Fig 9 2




Options:

HiFa 3T For

1. v 5

2. " mmﬁﬁﬂ'

3.« feRer 3R e

A x THA AT Fohar

Question Number : 18 Question Id : 5861802032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The statement given below is followed by two decisions labeled I, and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement: There are huge numbers of people affected by air pollution caused by automobile industries.
Decisions:
I. Automobile industries should be closed immediately.

II.  Such types of industries should be shifted outer sides of city.
Options:
1. » OnlyIfollows

? % BothIand II follow

3. % Neither I nor II follow

4. « OnlyII follows

Question Number : 18 Question Id : 5861802032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1« &aa | TEr &l

2. % | 3 1l ST T §

3w FAl ATl wEr g

4 » e |l T B

Question Number : 19 Question Id : 5861802033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The statement given below is followed by two decisions labeled I, and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement: Highway robbery on the expressway between Delhi to Agra is increasing day by day.
Decisions:
I.  Assoon as possible robbers should be arrested.

II. Regular police patrolling should be started at this expressway.
Options:
1. » OnlylIfollows

? « BothI and II follow

3. = Either I or II follow



4. % OnlyII follows

Question Number : 19 Question Id : 5861802033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A o wus & &g g oW |, AR I Rw 71w | e Fua # uiaar T AT ¢ R B 3w
g =T ¢t & et & @ =l & vy aFaea &9 & 88 &

FUA: Teell ¥ AFW & I TFENET g5 W ¢ # geaAw e sedr = & 7
farof:
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Il. 38 vFEdHd W AafAa gfom 19d F 1 S Tiige

Options:

1« &aa | TEr &l

2 | 3R g =R

3w FAl ATl wEr g

Question Number : 20 Question Id : 5861802034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The statement given below is followed by two decisions labeled I, and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement: All employees of the office have celebrated birthday of Mr. X and have taken photos/selfi in the restricted
area of the office.

Decisions:
I.  All staff should be suspended from job.

II. A show cause notice should be served to all staff.
Options:
1. % OnlyIfollows



? % BothIandII follow

3 % Either I or II follow

4. » OnlyII follows

Question Number : 20 Question Id : 5861802034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A foT wua & a1g o ot |, s fqw T @ e sue & e @eF AT g R e ouw
TRT = & B g F ¥ i @ iy aFeea w5 T E
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Options:

1. % aer | TEr &l

2« | 3R S w@r

3. Farla il wer gl

4 o Fa 1 TErE

Mental Ability?2
Group Number : 2
Group ld: 58618093
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability?2

Section Id : 58618097

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180132
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5861802035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many triangles are in the figure?

Options:
1. = 23

? % 22

=
<
B



Question Number : 21 Question Id : 5861802035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fos & e fupe 7

Options:

1. = 23
7 ow 22
3. 0w 21
4. v 25

Question Number : 22 Question Id : 5861802036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language ANTICIPATION is written as ICITNANOITAP. How will the PRODUCTIVITY be written
in that language?

Options:
1. ® CUDORPYTIVTI

7  CUDORPYTIVIT

3. % CUDOPRYTIVIT



/4. ®* CUDORPTYIVIT

Question Number : 22 Question Id : 5861802036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

us AT =5 & ANTICIPATION &' ICITNANOITAP forgr Srar &1 38 &5 & PRODUCTIVITY &t

g 9o or sreem?
Options:

1. = CUDORPYTIVTI

2. v CUDORPYTIVIT

3. » CUDOPRYTIVIT

4. » CUDORPTYIVIT

Question Number : 23 Question Id : 5861802037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four letter clusters are given out of which the three letter clusters bear a certain common relationship. Choose the option
in which the letter clusters are differently related.

Options:
1. « DHLP

7 « EIMR

3 % CGKO

A % SWAE

Question Number : 23 Question Id : 5861802037 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
A =R 3R wHg U o € Bed @ 9 R weg avw & e ar B ol & wefie § s
H FEY AT @A aT HeW WAl T [demed I |

Options:
1. % DHLP
2. v EIMR
3 %« CGKO
A = SWAE

Question Number : 24 Question Id : 5861802038 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Four numbers are given out of which the three numbers bear a certain commeon relationship. Choose the number which
is different from others.

Options:
1. = 341

7 % 403

%
®
L
I
-1

A v 697

Question Number : 24 Question Id : 5861802038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR e & o ¥, e ¥ A gemat F @9 o ftee e ey ¥ w oA W S aew @
foer 71

Options:



2 % 403
3. % 527
4. » 697

Question Number : 25 Question Id : 5861802039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four figures are given out of which the three figures bear a certain common relationship. Choose the figures which is
different from others.

Options:

<

]

e
®



Question Number : 25 Question Id : 5861802039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

W et & a8 ¥, S @ A ampladt F 9 v AREd wae wey ¥ 98 a9 S e
T e Tl

Options:

Question Number : 26 Question Id : 5861802040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Venn diagram that best represents the given set of classes:

PARENTS, MOTHER, FRIENDS
Options:

7a\
) O

|
1. v

2. %

3. %

&

4. = —

Question Number : 26 Question Id : 5861802040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FT T 37 3G, T 70 Fot & Fg=aa A Fafcan Hwhg Far 82

Options:



Question Number : 27 Question Id : 5861802041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Venn diagram that best represents the given set of classes:

SCIENTIST, DOCTORS, ADVOCATES

Options:



4 v O

Question Number : 27 Question Id : 5861802041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FT T 37 3w, BT 70 FoF F Tg=ag A FEcan Fhg Far 82
dafas, siaey, Ihe

Options:



QOO

OR@

Question Number : 28 Question Id : 5861802042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘A - B’ means A is mother of B, ‘A $ B°, A is sister of B, ‘A (@ B’ means A is father of B and ‘A=B’ means A is son
of B.

IfR $ S=0 @ P. then how R is related to P?
Options:
1. » Nephew

? % Son
3 Sister

/] % Niece



Question Number : 28 Question Id : 5861802042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IEA-BFHTA Bframg ASBFRITNA BFTag A@B &FTHTA, BFr far
g, 3 ‘A=B' #T 31T A, B & 9 ¢

IfER$S=0@P, drR, P& &g o @i &7

Options:
1. = &=
2. % e
3. v Sed
4, % ST

Question Number : 29 Question Id : 5861802043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Shahini and Mohani are sisters. Dev and Anu are brothers. Dinesh is husband of Manju and son of Jyoti. Dev is son
Jyoti and Jyoti is mother of Shahini. How Dinesh is related to Mohani?

Options:
1. % Son

? « Brother

3. % Father

/. % Brother in law

Question Number : 29 Question Id : 5861802043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



MR 3R AR wE &1 27 3R ag o 1 RSy A9 w1 ofy sk sy = e €1 aw ey # oA
g 3T Ffa anfee &1 &7 &1 sy &1 A ¥ F=ar g9y 27

Options:

4_&@%

Question Number : 30 Question Id : 5861802044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘P * Q" means P is father of Q, ‘P % Q’. P is daughter of Q, ‘P # Q" means P is mother of Q and ‘P = Q" means Q is
son of P

IITM=N*Q#R* S, then how R is related to M?
Options:

1. % Brother

?  Grand grand Son
3 x Grand grand Father

4. % Grand grand Mother

Question Number : 30 Question Id : 5861802044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



WP-QaHxIP, QF A PR OFHIP, QRNINE PO FHIP, QH
AEARP=Q & 3 Q,P#HIE

IEM=N+O#R+S, &R, M ¥ &g y&x gafog 72

Options:

1. = o

2« T
3. % SHarar
4 = EECACAS

Question Number : 31 Question Id : 5861802045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In certain code TRAINER is written as US19058., How will be FASHION written in that code?
Options:
1. = GITIOPO

7« GITI9150

3. % GBTI9150

A % GITI7150

Question Number : 31 Question Id : 5861802045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s AfPaa #F & TRAINER & US1905S Br@m Siam g1 38 15 & FASHION & &g v rar

ATTAT?
Options:



1. « GITI9PO

2 » GITI9150

3. % GBTI9150

4. % GI1TI7150

Question Number : 32 Question Id : 5861802046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In certain code ACTION is written as 372, How will be FOLLOW written in that code?
Options:
1. = 200

3. % 345

4, v 498

Question Number : 32 Question Id : 5861802046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s AT Fis # ACTION =t 372 @ &ar g1 38 i & FOLLOW =1 frm wer forgr sreem?

Options:

1. = 200



3. w345

4. » 498

Question Number : 33 Question Id : 5861802047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of signs, when their positions are interchanged, will correctly solve the given mathematical
equation?

20+5-25+-5x5=100

Options:
1. & +and >
? % +and+

3. « +andx

A s +and-

Question Number : 33 Question Id : 5861802047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fr & @ oow foeg gow A, 3o ufoar sweww s s o¢ fearm smar 1o wetor w6 &« @t
FTTET?

20+ 5-26 5 x5 =100

Options:

L



Question Number : 34 Question Id : 5861802048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Which of the following pairs of numbers and signs, when their positions are interchanged, will correctly solve the given
mathematical equation?

16 -4x12+14-7=41
Options:
1 « 16and 12, +and—

? % 7 and 16, — and x

3 x 14 and 7, x and +

4 s 12 and 7, + and —

Question Number : 34 Question Id : 5861802048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

wemst 7 Gl & o 7 @ 5w g A, 37 ufaar e see 9 W e aftrde
HHHIOT TWET g &l SAT=m?

16+ 4 x 12+ 14 -7 = 41

Options:

1. » 16 3T 12, + 37 -



2 % 73X 16, - 3R x

3. 0« 43T 7, x 3T+

4. » 1237, + 3Rk -

Question Number : 35 Question Id : 5861802049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Some teams take parts in a cricket tournament. Each one has to play every other one. If there are 91 games played. How
many teams are there?

Options:
1. = 11

7 = 12

3. = 13

4, v 14

Question Number : 35 Question Id : 5861802049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o &F s fee T A e o 1w O & vw ey % WY Qe g1 3FR F9 91 ¥ T
S 1 e T & @ @ 2

Options:



4, v 14

Question Number : 36 Question Id : 5861802050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words have been given out of which three are alike in some manner, while the fourth one is different. Choose out
the odd one.

Options:
1. » Kidney

? % Liver

2w Lungs

4.« Toe

Question Number : 36 Question Id : 5861802050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X g i ow § Omd @ &= el wow wAe § Sefe Stur e 31 srwera @ g4

Options:
1.« ™
2« foET



4 o T IS

Question Number : 37 Question Id : 5861802051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In problem. out of four figures marked 1. 2. 3 and 4, three are similar in a certain manner. However one figure is not like
the other three. Choose the figure which is different from the rest.

Answer Fig.

1
Options:

1. %1

]
%
N

Question Number : 37 Question Id : 5861802051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

geT H, 1, 2, 3 3T 4 3T Ix BE § ¥ 99 & vr @A g1 gente v =Y, 3ew JF & ' T
TET &1 9 O g S 9w F B B

3ok AT

Options:

1. % 1



Question Number : 38 Question Id : 5861802052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the series.
15.12.24. 21, 2
Options:

1. = 25

2. v 42

Question Number : 38 Question Id : 5861802052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ T I S g@er # W foeg (7) #F wEr gioeia Fem|
15 1224 217

Options:

1. = 25

2. v 42



Question Number : 39 Question Id : 5861802053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the series.

30, 31, 40, 65, ?
Options:
1. = 124

2. v 114
3 % 95

A % 105

Question Number : 39 Question Id : 5861802053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ faeT g4 S g@er # voF ey (?) # wér giaraia e
30, 31, 40, 65, ?

Options:
1. = 124
2. v 114



4. % 105

Question Number : 40 Question Id : 5861802054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

One term in the number series is wrong. Find out the wrong term.

0, 8, 12, 20, 24. 30, 36
Options:

1. = 0

Question Number : 40 Question Id : 5861802054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&1 7% TEAT ST H U 9g Teid ¢l Ted U€ FH TdT AT
0, 8, 12, 20, 24, 30, 36

Options:

1. = 0
2 = 12
3 0w 24

4, v 30



General Awarenessl

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:
Revisit allowed for group Instructions? :
Maximum Instruction Time:
Minimum Instruction Time:

3
58618094
0

0
No
No
0
20
No
Yes
0

0

General Awareness1

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

58618098
1

Online
Mandatory
20

20

20

1
586180133
Yes

Question Number : 41 Question Id : 5861802055 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The branch of Science dealing with study of earth quakes is

called?

Options:

1. = Auxanology
2. = Tocology
3. v Seismology
4, = Aurology

Question Number : 41 Question Id : 5861802055 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25



Rl T AT ol aTell TaaiTel T omar &1 forg oA @

SATeIT SATAT &7

Options:

1. = 3fTFgellellaT

2.
3. v HIEATeST
4. % 3TN

Question Number : 42 Question Id : 5861802056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the name of chemical factory in which the pathetic
Bhopal Chemical Tragedy which happened in 1984 Kkilling
lakhs of people?

Options:

1. = Union Chemicals and Fertilizers
2. » Indian Carbide Factory

3. * New India Chemicals

4. v Union Carbide Factory

Question Number : 42 Question Id : 5861802056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1984ﬁ§é AT Tl THRITeh Iel [S8a er@l #llen ohl
mﬁaﬁ‘raﬁ,ﬁmuﬂmﬁamﬁﬁa@éaﬁ?

Options:

1. » Jieidel hiH%el US BicoTgerd
2. = S[3TeT FEEs theardl

3. = T I3AT HiAwed

4. v gloraeT Frees haredl

Question Number : 43 Question Id : 5861802057 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

Which one of the following acts as nitrogen fixing bacteria?

Options:

1. » Escherichia Coll

2. » Cutibacterium acnes
3. v Azotobacter

4. = Helicobacter pyroli

Question Number : 43 Question Id : 5861802057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafaf@d & @ Sl @1 ageie FURERE Saw] & &7 7
F HIAT &7

Options:

1. » SEIIAT hiells

2. » FYRCAFINIH Tekall
3. v Ualclsdel

4. = gfelpiSey dradielr

Question Number : 44 Question Id : 5861802058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The degree of salinity of the dead sea 1s approximately:

Options:

1. = 32 parts per thousand

2. v 332 parts per thousand
3. » 132 parts per thousand
4. = 664 parts per thousand

Question Number : 44 Question Id : 5861802058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A AN hT AU SlaTsiar &

Options:




x 32 #1097 Ui &9

v 332 19T UTd &9
x 132 6T UlT ol
x 664 HET Ufd &I

ol

Question Number : 45 Question Id : 5861802059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who has won the best film editing award at the 91st academy
(Oscar) awards ceremony?

Options:

1. v John Ottman

2. » Ludwig Goransson
3. » Guy Nattiv

4. = John Warthrust

Question Number : 45 Question Id : 5861802059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

91T HFIEAT (ITR) WERR TARIE A TIASS Thed HUE
ERR fohaal Siar?

Options:

1. v T 3ed«
2. % %sTaﬂ M TeTga
3. = IS ofed

4. = el THCEE

Question Number : 46 Question Id : 5861802060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is name of mobile app launched by President of India
recently on the occasion of 54th Valour Day of CRPF?

Options:



1. = Valour App

2. = Shaurya App

3. v Veer Parivar App
4. = Veer Jawan App

Question Number : 46 Question Id : 5861802060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gTel &1 # CRPF & 54 oY fggq & 38 W #ARd &
Trogufcd ST & hr a5 AWTSer VT T oATH FAT &7

Options:

1. % dellT U9
2. % e v
3. v ¥ URaR U9
4. = G AT U9

Question Number : 47 Question Id : 5861802061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is the present chairperson of Central Board of Fllm
Certification of India?

Options:

1. ¥ Prasoon Joshi
2. = Leela Samson
3. » Sharmila Tagore
4. = Anupam Kher

Question Number : 47 Question Id : 5861802061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & ol hed THIUTT S8 & ToHTe CTE Hiad &7

Options:

1. v et el




2. = oltell AT
3. % THT ¢
4. = 3UH W

Question Number : 48 Question Id : 5861802062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The government of India has announced renaming of Ross
islands of Andaman after which national leader in December
20187

Options:

1. = Lal Bahadur shastry

2. = Sardar Vallabhai Patel

3. v Netajl Subhash Chandra Bose
4. » Mahatma Gandhi

Question Number : 48 Question Id : 5861802062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR TR o GHeX 2018 H 3ESHA o JF cdIul FI oA
Feorhy [ohg TSI AdT & oH WX IEa ST =yor fr &2

Options:

1. = STl FEEY AT

2. * TER deold HATS Ucdl
3. ¢ ﬁ?—l‘l\_rﬁ'ﬂ'ﬁmﬂ?{a)l'\’:l'
4. = FAZCAT T

Question Number : 49 Question Id : 5861802063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Viceroy of India had introduced the Hindu Widow
Remarriage Act?

Options:

1. v Lord Dalhousie



2. » Lord Irwin
3. = Lord Wavell
4. = Lord Rippon

Question Number : 49 Question Id : 5861802063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT F oFT qEE o &g fauar qafqare sifafaam ger
foraT a1?

Options:

1. v i SAgaT
2. % o5 S{del
3. = ois ddel

4. % o5 N9

Question Number : 50 Question Id : 5861802064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Viceroy of India proposed the Vernacular Press Act?

Options:

1. = Lord Canning

2. » Lord Dalhousie

3. v Lord Lytton

4. = Lord Mountbatten

Question Number : 50 Question Id : 5861802064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRT & g a=Eag o da-lclci—i-lheli O Te Rl UEdd I&T?

Options:

1. % ollg ShfalaT
2. % oS Solglall

3. v diz Toed




4. % e AT3CSCA

Question Number : 51 Question Id : 5861802065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which Sikh Guru is considered as the popularizer or
standardizer of the Gurmukhi script?

Options:

1. * Guru Hargobind
2. v Guru Angad

3. = Guru Harkishan
4. » Guru Amardas

Question Number : 51 Question Id : 5861802065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT felf T SNRTOT Sallel IT FHRT Fdclel Flal FT AT
Fid & G T FT ST &7

Options:

1. = I NG

e

2. ¢ & 371G

3. = % EIIRTA

4, = IR PR

Question Number : 52 Question Id : 5861802066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Under whose leadership was the Indian National Trade Union
Congress formed in 19477

Options:

1. v Sardar Vallabhbhai Patel
2. » Lal Bahadur Shastri

3. * Khan Abdul Ghaffar Khan
4. » B.P.Wadia



Question Number : 52 Question Id : 5861802066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1947 # ARCIT TR ¢35 Jlodel HAH Fhds dged H sell?

Options:

1. v TER TeodH s 9o

% STl SEIGY 9TTEAT

2.
3. % o 37sqel ITHFHIT FTe
4.

« ®T. UT. giEar

Question Number : 53 Question Id : 5861802067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which article of Indian constitution has provision for
protection of life and personal liberty?

Options:

1. v Article 21
2. » Article 31
3. = Article 41
4. = Article 51

Question Number : 53 Question Id : 5861802067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Tl & 58 3eeoe # Sfiaa Fr e 3R

AT deTa EaaTaT ST UTaHTe 2T I B?

Options:

1.@31@175321
2. = 3Ieade 31
3. = 3exae 41
4. = 3eeade 51

Question Number : 54 Question Id : 5861802068 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

ToiEd & O oFg To/ehg AT Weel hl FeTaasd T &
IeTANET HETAT T TEAT T FH g7

Options:

1. = ATdTels
2. = AYTeld
3. v I3
4. = feeelr

Question Number : 54 Question Id : 5861802068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which state/Union territory among the following has the least
sanctioned strength of the Vidhan Sabha?

Options:

1. = Nagaland
2. » Meghalaya
3. v Puducherry
4. = Delhi

Question Number : 55 Question Id : 5861802069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

LM Singhvi committee appointed by Rajiv Gandhi
government is related to?

Options:

1. = Centre -State relations

2. v Panchayati Raj institutions
3. » Indian Industrial policy

4. = Indian Foreign trade policy

Question Number : 55 Question Id : 5861802069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tl ey SRR 2@y forgerr vorvn fodr @fafa e
S

Options:

1. = heg-IIog T

2. v TRIAT <7 TEATT

3. » ARAY IR siifd

4. » ARG @8 =9 g

Question Number : 56 Question Id : 5861802070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Article 23 and 24 of the Indian constitution contains details of?

Options:

1. v Right against exploitation

2. = Right to constitutional remedies
3. = Right to equality
4, = Legislative procedure

Question Number : 56 Question Id : 5861802070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TG & 3eleese 23 3T 24 H Tohgehr foawor fear
IRT §7

Options:

1. v eNNOT & TH&&TH ATUFRR

2. *» FAYTaleh 3UAN hT HTTRR
3. % THTAT & 3TTRR

4, = TR gfshar

Question Number : 57 Question Id : 5861802071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The part IV-A of the Indian constitution contains?



Options:

1. » The Union and the executive
2. * Fundamental rights

3. v Fundamental duties

4. = The states

Question Number : 57 Question Id : 5861802071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRAT HIadTel o AET [V-A H T AT AT 87

Options:

1. » @9 3T Hragrfelr
2. = Hiforer 3R

3. v Hel e

4. = T

Question Number : 58 Question Id : 5861802072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which article of the Indian constitution provides right to
minorities to establish and administer educational
institutions?

Options:

1. v Article 30
2. = Article 33
3. = Article 35
4. = Article 39

Question Number : 58 Question Id : 5861802072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RO TiaeTer T el @1 aagnéq eug&Egdeh! hr QfeR
TTATAT hT TATTAT 3T T2MHA HT HTARR WeTeT AT &7

Options:




‘I.JH@L_&?{SO
2. = 3ede 33
3. = 3eeadg 35
4. = 3T 39

Question Number : 59 Question Id : 5861802073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The term ‘Half Nelson’ is associated with which one of the
following sport?

Options:

1. = Polo

2. * Kho-Kho

3. » Horse racing
4, v Wrestling

Question Number : 59 Question Id : 5861802073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BT dede ¢ee fdedeidd A & ofg B & gafad 87

Options:

1. = 9relr
2. = F-E
3. = =S T 2IF
4.&*?%?—?[

Question Number : 60 Question Id : 5861802074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With which game the Uber Cup is associated?

Options:

1. * Wrestling
2. = Shooting



3. v Badminton
4. = Tennis

Question Number : 60 Question Id : 5861802074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 &9 T Tol & HEAd &7

Options:

1. = e
2. = g[fear
3. v S8
4, = fag

General Awareness2

Group Number : 4
Group Id: 58618095
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness?

Section Id : 58618099
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1

Sub-Section 1d: 586180134



Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5861802075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which bowler has taken highest number of wickets in the ICC
Cricket World Cup (ODI) till 2015 World Cup?

Options:

1. = Courtney Walsh

2. v Glenn McGrath

3. = Muttiah Muralitharan
4. » Shane Warne

Question Number : 61 Question Id : 5861802075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ICC frde e &9 (ODI) & 2015 f3eg &7 aw kg dcarst
o A [dehe fou?

Options:

1. %= ol dleel

2. v Tolel HeFamer
3. = FIAT AR
4. % QAT TTeT

Question Number : 62 Question Id : 5861802076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The traditional food ‘Madra’ is popular in which state of India?

Options:

1. ¥ Himachal Pradesh
2. % 3oa

3. = Karnataka

4. = Manipur

Question Number : 62 Question Id : 5861802076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TRONF $Ielel 'AGl ORI & Fd Tog # apig §7

Options:

1. v TRATT wder
2. = Gl
3. *= Whallceh
4.« B

Question Number : 63 Question Id : 5861802077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which famous theatre personality is known as
‘communications guru of India’?

Options:

1. » Feroz Khan

2. v Alyque Padamsee
3. = Girish Karnad

4. = Mahesh Dattani

Question Number : 63 Question Id : 5861802077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forer ufg faver cafddeg 1 '0RA & T 78 & o7 & 0
STl SATaT &7

Options:

1. = TOROIST ETeT

2. v Ufelsr ggHAT
3. = Tarer et
4. = FAFLT Gearolr

Question Number : 64 Question Id : 5861802078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The traditional food ‘Sadya’ is popular in which Indian state?




Options:

1. = Manipur
2. » Karnataka
3. v Kerala

4. = Telangana

Question Number : 64 Question Id : 5861802078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tord IRATT Tod H URUNh Hisld '@ alhud &7

Options:

1.%?@3‘{
2. % Fhalceh
3. v ol
4. = JoATaT

Question Number : 65 Question Id : 5861802079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The wrong country-capital match among the following is?

Options:

1. = Barbados - Bridgetown

2. v Bahrain - Helsinki
3. » Mongolia - Ulaanbaatar
4, = Angola - Luanda

Question Number : 65 Question Id : 5861802079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelaa & & FiaT GT “CU-UTUT6 el TTold o7

Options:

1. » SREYE - [§ae3d

2. v F&ileT - goldenl




3. * HMEET - ITASER
4. = 379N - ?_»jr3ﬂ'3T

Question Number : 66 Question Id : 5861802080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The heautiful ‘Tso-Kar lake’ is also known as?

Options:

1. » Snow Lake
2. » Pink Lake
3. v White Lake
4. » Rose Lake

Question Number : 66 Question Id : 5861802080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gl 'THI-FR S T 59 AH @ T S S g7

Options:

1. % Tl oleh
2. % Wk ol
3. v TEBC o

4. = UST ok

Question Number : 67 Question Id : 5861802081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which Indian state, the Kadana Hydroelectric project is
located?

Options:

1. = Kashmir

2. = Qrissa

3. » West Bengal
4. v Gujarat



Question Number : 67 Question Id : 5861802081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST TelTeioTell TRIATSTT, T & hg g A ua &7

Options:

1. = AN
2. = 35M4T
3. = UTeIH STel
4.&*@311?[

Question Number : 68 Question Id : 5861802082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Bokaro steel plant was set up in India with the assistance
of?

Options:

1. = Italy

2. % France
3. v USSR

4. = Germany

Question Number : 68 Question Id : 5861802082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRT H SRR Tl Tolle Tohehl Tdar @ TATua T ar=—r
aqT?

Options:

1. = S&all

2. « W

3. v JUHTHIN
4, % STHaT

Question Number : 69 Question Id : 5861802083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What was the subject of Meera Seth committee appointed by
Government of India?

Options:

1. » Public welfare

2. v Handloom Sector

3. = Loan system

4. = Pension for farmers

Question Number : 69 Question Id : 5861802083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TR @R fogesd A7 ds afafa fow favr @ gefag
o?

Options:

1. = Hdollelsh hedTo]

2. v BUEIET &89
3. % FOT YUTTeIl
4. » TRETEAT & Tolw dere

Question Number : 70 Question Id : 5861802084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which committee was constituted by the Reserve Bank of
India to make recommendations on Capital Account
Convertibility (CAC)?

Options:

1. = Mahajan committe

2. = Satyam Committe
3. v Tarapore committee
4. » Nayak committee

Question Number : 70 Question Id : 5861802084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HRAOT RSa s gaRT hivce 3h13¢ Fhageiiedel (CAC) W
AwRe e & fov *ia 41 a@fafa afea & a8 0

Options:

1. % HaTelel AT
2. = gcgH afafa
3. v IO gfafa
4. = sk afafa

Question Number : 71 Question Id : 5861802085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Adding Chromium oxide to molten glass gives which colour to
it?
Options:

1. » Yellow - Amber
2. v Emerald Green
3. = Red

4. = Blue - Violet

Question Number : 71 Question Id : 5861802085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ﬁfltlﬁrgu T H HITHETH 3aass Jele 9 dl W67 3cded
glar &7

Options:

1.« Uell-37FT

2. v Ueal oHET &7
3. % olTel

4. = HArelT - Saralr

Question Number : 72 Question Id : 5861802086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘CETANE’ number is used to express the quality of which one
of the following fuels?

Options:

1. = Coal

2. » Petrol
3. v Diesel
4. = Wood

Question Number : 72 Question Id : 5861802086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

CETANE’ @&am &7 39T foeer & & fova it 1 aroracar
P TFT e & ToIT ToRam Far §7

Options:

1. = SRIFelT
2. = Uglel
3. v SIoTel
4, % ohgl

Question Number : 73 Question Id : 5861802087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The instrument which measures the changes in volume of a
substance is called?

Options:

1. v Dilatometer
2. * Nephelometer
3. = Hypsometer
4. = Cathetometer

Question Number : 73 Question Id : 5861802087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



g8 3TRIOT SiF foRdT ey & 3ader & aRade I AT9dT &,
HECITAT &7

Options:

1. v ERIeCIATCT
2. % TARATHIET

3. = TBedAIART
4. » hACTHET

Question Number : 74 Question Id : 5861802088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ore ‘Cinnabar’ contains which one of the following
metals?

Options:

1. » Sodium

2. v Mercury

3. = Aluminium
4. = ZInc

Question Number : 74 Question Id : 5861802088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e AT & PR # @ Flo @ arg 7 S 372

Options:

1. = QISTH
2. v ORT

3. » UegAITH
4. = STEAT

Question Number : 75 Question Id : 5861802089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Eco-friendly rocket ‘“ANGARA’ was developed by?



Options:

1. = USA

2. » India

3. v Russia

4. = Germany

Question Number : 75 Question Id : 5861802089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ZehI-thgell Tshe 'ANGARA' TohEsh Zary Taeriad foRam a=m o1?

Options:

1. = Juaw
2. = AR
3. v &9

4. = AT

Question Number : 76 Question Id : 5861802090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The first ever World Ocean Science Congress was held at?

Options:

1. v Kochi

2. » Chennai
3. % Goa

4. = Mumbal

Question Number : 76 Question Id : 5861802090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ogell [aed AN ATl FET Fal JITd S g 2?

Options:

1. v i<
2. % TJools



4. » FEE

Question Number : 77 Question Id : 5861802091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

APSARA, CIRUS and ZERLINA are the name of?

Options:

1. = Warships

2. » Satellites

3. = Surface to surface missiles
4. v Nuclear Reactors

Question Number : 77 Question Id : 5861802091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T, TR 3T e feas da1d 87

Options:

1. % Jgud

2. = 398

3. « g I Idg 9 AN e qlell AAS
4, v TR Roded

Question Number : 78 Question Id : 5861802092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the headquarters of the OPEC (Organization of
Petroleum Exporting Countries) located?

Options:

1. v Vienna, Austria

2. = Algiers, Algeria

3. » Jakarta, Indonesia
4, = Caracas, Venezuela



Question Number : 78 Question Id : 5861802092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3Nk (FEiferad faalceh el T Haae) hl HEATe el &
&7

Options:

1. v Tagar, 3deear
2. = 3eolldd, el dT

3. % ST, SEIATRIRT

N
4. = HIhy, deisiVell

Question Number : 79 Question Id : 5861802093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year Telecom Regulatory Authority of India was
established?

Options:

1. = 2000
2. % 1990
3. v 1997
4. = 1989

Question Number : 79 Question Id : 5861802093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR THAN ToTHT WITOeRIoT kT FA19a fovg v hr ag
ofT?

Options:

1. = 2000
2. = 1990
3. v 1997
4. = 1989



Question Number : 80 Question Id : 5861802094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is the present Vice-Chairperson of NITI Aayog?

Options:

1. v Rajiv Kumar

2. » Ramesh Chand
3. = V.K.Paul

4. = Bibek Debroy

Question Number : 80 Question Id : 5861802094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 3TAET & TdATd 3UTETET hid &7

Options:

1. v TG AR
2. = TH TG
3. = dleh diel
4. = fgs qa0ig

Arithmetic Ability1
Group Number : 5
Group Id : 58618096
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 586180100

Section Number : 1



Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180135
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5861802095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If E—XL = 1. then the value of x is:
1+ ¥

J'+_J.—.;L'

Options:
1
1 L H

-2
®
wnl e

| b

Question Number : 81 Question Id : 5861802095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofy 2 =1, aF x FT 7F g

J'+_J_—.;|:'

Options:

| =

1.



Ll w

a2

Question Number : 82 Question Id : 5861802096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Solve the following.

s o 2= 05+ 2-)-

Options:
61
1. = 84
223
2.v 84
24?
3 = 84
19
1_
4 = 84

Question Number : 82 Question Id : 5861802096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



f=afof@a & g &

s~ fe2-(05+ -3 -

Options:
61
1. = 84
23
7 i
2. v 84
24?
3 = 84
19
1_
4 = 84

Question Number : 83 Question Id : 5861802097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The value of G of 1%) - (2 %— 33 is:

Options:

299
1. = 180

20
7 % 169

3 % 1



Question Number : 83 Question Id : 5861802097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Gos) + (2523 womm o

7 13
Options:
299
1. = 180
20
2. = 169

W= |

Question Number : 84 Question Id : 5861802098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

b ; 5
HZ3E =Vapd 4% = | then> + & is equal to:
X b ¥ a z

Options:
1. = 0



ol

Question Number : 84 Question Id : 5861802098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a i3 b E X C
R+ =1 AR 2+ A I+ fre ¥ Fee g

X Y c a Z

Options:

=T

o=

Question Number : 85 Question Id : 5861802099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
3.6 x 0,48 x 2,50

0.12 x 0,09 x 0.5

The value of

Options:
1. = 8000

7 % 80000

3.« 800



4 = 80

Question Number : 85 Question Id : 5861802099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3.6 % 0.48 X 2.50 .
0.12 X 0.09 X 0.5 R @TIT
Options:

1. = 8000

2 % 80000

3. « 800

4. = 80

Question Number : 86 Question Id : 5861802100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

On simplification, 3.36 — 2.05+1.33 is equal to:
Options:
1. ¢ 2.64

7 % 2.61

Question Number : 86 Question Id : 5861802100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TIERI0T T, 3.36—2.05+1.33 @& & =&y g

Options:

1. v 2.64
2 % 2.61
3. = 2.64
4. = 2.60

Question Number : 87 Question Id : 5861802101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(0.06)%2+(0.47)2 +(p.079)%
(0.006)2 +(0.047)2 +(0.0079)2

The value of

Options:
1. = 10

? = 0.1

3. % 1000

A v 100

Question Number : 87 Question Id : 5861802101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(0.062+(0.47)%2 +(p.079)% —— mT
(0.006)2 +(0.047)2 +(0.0079)2 ik ;

Options:



2 = 0.1
3 % 1000
4. « 100

Question Number : 88 Question Id : 5861802102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afE 0.232323.. F UF e H 9T 14T g, a7 SHHT THUTH 2

Options:

2
1. = 9

12
2. %

23
3_ « 99

53
4 = 100

Question Number : 88 Question Id : 5861802102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 0.232323... is converted into a fraction, then the result will be:
Options:



O b2

23

53
4. % 100

Question Number : 89 Question Id : 5861802103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 1

The sum of the first 20 terms of the series i + + + ... 1is:
X6 6x7 Tug

Options:
1. = 16

? % 1.6

3 v 0.16

A % 0.106

Question Number : 89 Question Id : 5861802103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Y i +T;B+--- SEe @& 9gel 20 9&r & TR e

36 e

Options:

1. = 16



2 % 16

3. v 0.16

4. % 0.106

Question Number : 90 Question Id : 5861802104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(z.3P -0.027
(2.32)2 +0.69+0.09

The value of

Options:

1. = 3

Question Number : 90 Question Id : 5861802104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o,
(2.3)3 —0.027 FT AT E’I?IT:

(2.2)%2 +0.69+0.09

Options:



Question Number : 91 Question Id : 5861802105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The HCF of two numbers, each having three digits, is 17 and their LCM is 714. The sum of the numbers is:

Options:
1. v 221

7 % 102

3. % 119

A % 149

Question Number : 91 Question Id : 5861802105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et 37T ATel &7 HEATH! & Fgedd THAMEAH 17 AT Tgcan FAMIEaS 714 g1 54 TEAH! & arer
g

Options:
1. ¢ 221
2 % 102

3. % 119



4. % 149

Question Number : 92 Question Id : 5861802106 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A garden consists of 135 rubber plants planted in certain mumber of columns. There are another set of 225 corn plants
that is to be planted in the same number of columns. What is the maximum number of columns in which they can be
planted?

Options:

1. =

Lh
L

LA

2.% 3

LA

3.v 4

[
LA

4. =

Question Number : 92 Question Id : 5861802106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T A 135 WY & 9 § o AT g A w5 F o9 w3 o6 9 ¥ 225 Aee +
gtef &1 off TATET TEAT & TFHT H TENEAT AT g1 39 T T HARaGH N AT F STH 3o

ST ST HehaT 87

Options:
1. = 55
2 = 35

3 v 45



Question Number : 93 Question Id : 5861802107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the largest number that will divide 4358, 4748, 5138 and 5788 to leave a remainder of 3 in each case?

Options:

1. =

Lh
I-2

[~2
i$
L
Lh

&
<

Zh
Lh

]

LA

4. =

Question Number : 93 Question Id : 5861802107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3¢ TIW 957 TEAT HiT O § St 4358, 4748, 5138 3y 5788 Fr fAsnforg T § 3t v As AvEer A

3 9 =T 27
Options:

1. = B2
2 % bb
3 ¢ 65
4. = 75

Question Number : 94 Question Id : 5861802108 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
In 90 litres of a mixture of milk and water, the ratio of milk to water is 2 : 1. If this ratio is to be 1 : 2 respectively, then
the quantity of water to be further added is:

Options:
1. = 30 litres

7w 45 litres

3w 60 litres

A« 90 litres

Question Number : 94 Question Id : 5861802108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

90 T F g AT U F HHoT A, qu F I FHGIT 2 - 1 Bl FH AT FFAW 11 2 T F
fore e 7 fegar o= T s & memesar 22

Options:

1. = 30 &exX

2« 45 7T

3 x 60 @eT

4. » 90 @#ex

Question Number : 95 Question Id : 5861802109 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The salaries of three persons, X, Y and Z, are in the ratio of 2 : 3 : 5. If increments of 15%, 10% and 20% are allowed,
respectively, in their salaries, then the new ratio of their salaries will be:

Options:



®

[
L]
L]
LS
Lh
Lh

[
s

4 & : 33260

Question Number : 95 Question Id : 5861802109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

de safaadl X, Y R Z & ada 2 0 3 : 5 & U@ H §| A 3% Ia7 & FAW: 15%, 10% 3R
20% T IhE FX & SAC, A1 37 ST HT AT HJATT g
Options:

1 % 21:32:54

2 % 13 :23:40

3. % 23:33:55

4. v 23:33: 60

Question Number : 96 Question Id : 5861802110 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Amit bought 600 mangoes and 400 apples for his shop. If 15% of the mangoes and §% of the apples were rotten, then
the percentage of fruits in good condition is:

Options:
1. % 89.2%



7 % 81.4%

3 % 84.6%

A v 87.8%

Question Number : 96 Question Id : 5861802110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HET & 39 ghe & v 600 3mH HR 400 W @l FfE 15% 31 3R 8% WY WS g0 4, o
MU W F Faw gionE v = a7 22

Options:

1. = 89.2%
2 % 81.4%
3« 84.6%

4. v 87.8%

Question Number : 97 Question Id : 5861802111 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A television manufacturing company declares that a television is now available for Rs. 25,600 as against Rs. 28,400 a
year before. Find the approximate percentage reduction in the price of television offered by the company?

Options:
1. & 9.81%

7 v 9.86%



3. % 9.68%

A % 8.96%

Question Number : 97 Question Id : 5861802111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T AT gl TToT 9T o O9oT T F 3T 35+ ToOfasd T G 98 & H1T T 28,400 F
Heraer T4 25,600 H 3G ET| HUA F Telllastel I HIAG H HATAS FicRId HAT BN IT0EAT F

Options:

1. = 9.81%

2. v 9.86%

3. % 9.68%

4. = 8.96%

Question Number : 98 Question Id : 5861802112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A number is first increased by 40% and then decreased by 40%. The net percentage increase or decrease is:
Options:
1. v 16% decrease

? s 14% increase

3. ® 18% decrease



/. % 15% increase

Question Number : 98 Question Id : 5861802112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF TEIT F Ug 40% FSIT ST § AT BT s0H 40% Fr Fdr & J1r 81 T gioed 3F am
T F:L
Options:

1. v 16% &

oy 14% TR

3. % 18% T

4« 15% I

Question Number : 99 Question Id : 5861802113 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The average age of a father and his two sons is 27 years. Five years ago. the average age of the two sons was 12 years.
The present age of the father is:

Options:
1. = 49 years

7 % 34 years
3 47 Yyears

4 = 42 vyears

Question Number : 99 Question Id : 5861802113 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

v ar AR 38 o q& A AT g 27 AN T 9T @ 98, aler aet # Hwa g 12 9§ o
ﬁmﬁaﬁmaa@%

Options:
1. « 49 @
2« 34 T
3. v 47 |
A % 42 @

Question Number : 100 Question Id : 5861802114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a hostel of 12 boys and some girls, the average consumption of rice per month is 12 kg. The average consumption of
rice by boys is 16 kg per head and that by girls is 8 kg per head. The number of girls in the hostel is:

Options:
1. = 14

7 o 12

3 % 16

4 = 15

Question Number : 100 Question 1d : 5861802114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

12 o5 3R Fo FEFE & ve oEEw A, 9fd A T=e $F A6 @99 12 kg §l TodF a5
sitaaer 16 kg I=a T TIT FIAT § TET FTEHAT F ATHS H TE HHET Ja I597 8 kg g1 oEEH H
AT T gEAT Fr AT FL




Options:

1. % 14
2. v 12
3 % 16
4.« 15

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

Isthis Group for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Arithmetic Ability?2

6
58618097
0

0
No
No
0
20
No
Yes
0

0

Arithmetic Ability?2

Section Id : 586180101

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180136

Question Shuffling Allowed : Yes



Question Number : 101 Question Id : 5861802115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The percentage profit earned by selling an article for Rs. 1.920 is equal to the percentage loss incurred by selling the
same arficle for Rs. 1.280. At what price should the article be sold to make a 25% profit?

Options:
1. = Rs.2.400

9 % Rs.2.200

3 % Rs.2,100

4. » Rs.2.000

Question Number : 101 Question Id : 5861802115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fordlr a%g @1 T9F 1920 & S5 T B 1o Ffaed o, 36 TFg 1 TIF 1280 H a9 9 gl Jrelr
sforRra @i & STET g &1 25% & o FA F fov avg @ 5w g 9T = e g

Options:

1 % TI¥ 2,400
2« T 2,200
3 x T 2,100
4. » T 2,000

Question Number : 102 Question Id : 5861802116 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper sold a television set for Rs. 17,940 after giving a discount of 8% on its marked price and earned a profit
of 19.6%. If no discount was offered, then the percentage of profit earned would have been:



Options:
1. v 30%

[
e |
ey

2. %

A % 24.8%

Question Number : 102 Question Id : 5861802116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U GHFEER o U colllasts UC & 3ifod Hed T 8% & Fe &7 & a1 30 94 17,940 & ==m 3R
5T Wl F 19.6% T T FAIN R 3T HIs T AT & g, ar Afaa ameT 1 giawra g

Options:

1. v 30%
2w 27%
3. % 25%
4 = 24.8%

Question Number : 103 Question Id : 5861802117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘A’ costs Rs. 500 per kg, After mixing it with ‘B’ costing Rs. 250 per kg, a shopkeeper sells the mixture at Rs. 480 per
kg. thereby making a profit of 20%. In what ratio does he mix the two?

Options:
1. = 3:4



3. ¢ 3:2
A = 4:5

Question Number : 103 Question Id : 5861802117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘A Fr FETT T9F 500 T kg §1 T FFEEER SHA I9F 250 T kg FTem ‘B et gw fHsor v wfy
frairama w93 480 # 9 7 3N 39 Wi # 20% FT M FACT §| IHA A BT FH IS A FHemaw
&2

Options:

1. = 3:4
2 % 1:3
3 ¢ 3:2
d = 4:5

Question Number : 104 Question Id : 5861802118 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper gives a discount of 20% on the labelled price of a calculator. On this discounted price, he gives an
additional discount of 12%. If the final selling price of the calculator is Rs. 704, then the labelled price of the calculator
is:

Options:
1. % Rs.1.045.00

9 o Rs. 1.000.00



3. % Rs.930.00

4. % Rs.845.00

Question Number : 104 Question Id : 5861802118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF FHHER Forpored P oEe H IS HAG W 20% F T &ar g1 38 RAmadr FEa ), 7w 12%
sl g A &1 71 3% Sepee #1 3o R 759 9 704 § O Ferpoet # A9 Ao A
ETE

Options:

1 % ¥ 1,045.00

5 » T 1,000.00

3. % T 930.00

4. % TI 845.00

Question Number : 105 Question Id : 5861802119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the difference between a discount of 35% and two successive discounts of 20% on a certain bill is Rs. 22, then the
amount of the bill is:

Options:
1. ¢ Rs.2.200

2 % Rs. 1,100

3 % Rs. 1,000



4. = Rs. 1500

Question Number : 105 Question Id : 5861802119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg v fafRaa R 97 35% & g 3K 20% & & A% el & @i &1 Haw 398 22 7, ar e &
ofer &

Options:

1 » & 2,200
2 % T 1,100
3 % T 1,000
A % T 1,500

Question Number : 106 Question Id : 5861802120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At what rate percentage per annum will the simple interest on a sum of money be % of the sum in 10 years?
Options:

1. = g%
P % 6%

3. v 4%

20

423?%



Question Number : 106 Question Id : 5861802120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&g g wldﬁwmﬁWMWﬁmﬁﬂﬁﬂﬁTﬁ

Options:

=TT Hfeg gem?

| R

‘Iszg%

2 x 6%
3. v 4%
4. = ?%

Question Number : 107 Question Id : 5861802121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Simple interest on a certain amount is — of the principal. If the numbers representing the rate of interest in percentage
and time in years are equal, then the time for which the principal is lent out is:

Options:

?3 Vears
1l.v 2°

I % 6; years

Question Number : 107 Question Id : 5861802121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 J?gmﬁﬁm
5 65 e F v
3 5?'&1?4#%@

4. = 7 ¥ & @

Question Number : 108 Question Id : 5861802122 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A person divided a sum of Rs. 2.600 into three parts and invested the parts at 4%. 6% and 8% per annum simple
interest. respectively. At the end of the year, the person got the same interest in all three cases. The money invested at
4% was:

Options:

1. « Rs.1.200

? % Rs. 800

3. % Rs. 600

4] = Rs.200

Question Number : 108 Question Id : 5861802122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T TTed o T98 2,600 F JF o F Fanfea forar it 57 e Fr FAw 4%, 6% AT 8% wfaeaw
HTYRUT =0 W Aaf¥a fFar 99 & 39 #, 5§ e # d47 #Fl § A a1 E‘ﬁkﬁ'g’ml 4%
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Options:
1 » T 1,200
D % TIF 800
3. % TIF 600
4. = TIF 200

Question Number : 109 Question Id : 5861802123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The difference between the compound interest and the simple interest at a certain rate per annum accrued on a sum of
Rs. 18,000 in 2 years was Rs. 403, The rate of interest per annum was:

Options:
1. = 13%

7 % 16%

Question Number : 109 Question Id : 5861802123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

T 18,000 Fr MY T 2 It Fr 3 F ves FRTT sfoEy sow ¥ W oA Ty e R

HTUIOT 417 & &1 &7 39 399 405 o) 9f3 99 s & gT o
Options:




1. = 13%

2w 16%
3. v 15%
4. % 12%

Question Number : 110 Question Id : 5861802124 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A sum of money was borrowed at 5% compound interest and then paid back in two annual instalments of Rs. 882 each.
The sum borrowed was:

Options:
1. = Rs.1.680

9 % Rs. 1700

3 % Rs. 1620

4. » Rs. 1640

Question Number : 110 Question Id : 5861802124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ve TR & 5% TRge s W 3UR O a3 5@ o9 882 Fr 2 Wremer fRedt F avaw ger
IAT| FYR o T [RY o
Options:

1. = T9¥ 1,680



2 % TIF 1,700

3 % 9T 1,620

4 o TIF 1,640

Question Number : 111 Question 1d : 5861802125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A rectangle has width ¢ and length b. If the width is decreased by 20% and the length is increased by 10%, then what is
the area of the new rectangle in percentage compared to ab?

Options:
1. = 110%

7« 88%

3 % 120%

A = 80%

Question Number : 111 Question Id : 5861802125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF HAT Fr =i 2 3 F9E b T TR THFHr TS 20% FH FT & S ¢ 3T T 10% sar &
ST &, & ab F GEAT F AT 3AT SIFA haw giaa g

Options:

1. = 110%

2. v 88%



3. % 120%

4. % 80%

Question Number : 112 Question Id : 5861802126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A tank is 25 m long. 12 m wide and 6 m deep. The cost of plastering its wall and bottom at Rs. 1.5 per m? will be:
Options:
1 = Rs.1.160

2 % Rs. 1010

3 Rs. 1,116

4. = Rs. 1106

Question Number : 112 Question Id : 5861802126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T &% 25 m &, 12 m =isr AT 6 m W g1 F9F 1.5 9fd m? & ¥ SR dER AT T Fr
SITEST Fled ST ST AT FTUTST hITaIT:

Options:
1. « ¥9& 1,160
2 % T 1,010

3 o ¥ 1,116



A % TIF 1,106

Question Number : 113 Question Id : 5861802127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the height of a triangle is decreased by 40% and its base is increased by 40%, then its area will:
Options:
1. » Iincrease by 8%

7 w increase by 16%

7 x decrease by 8%

/],  decrease by 16%

Question Number : 113 Question 1d : 5861802127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofy fordl gt 1 Fa$ 40% F7 7 & ST § 3R SHH HUR 40% T Fer oA Srar g, ar sHer
FIT S9%eT g

Options:
1. = 8% 3fd=
2 % 16% WOF

3. u 8% FH

4. v 16% FH

Question Number : 114 Question 1d : 5861802128 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Anbu can do a job in 10 days. Babu can do the same job in 20 days. They start doing the job together, but after 4 days.
Babu leaves. How many more days will be required by Anbu to complete this job alone?

Options:
1.« 4

7 % 6

I

3. %

L]

4 =

Question Number : 114 Question Id : 5861802128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=g & F17 1 10 G F 97 & FFaA1 g1 I F T@ FH W HA A 20 @ T §| T vF AY
FH FEA UE T ¢, AT 4 A F 9, 9g FH OF & §) g FOTH FH FOAE R
= ¥ for fFae &= 3t oo

Options:

1. v 4

2. % 6

Question Number : 115 Question Id : 5861802129 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A takes 30 days to finish a work. B and C are thrice and twice as efficient as A, respectively. If A, B, and C work
together, then how many days will they take to finish the work?

Options:



Question Number : 115 Question Id : 5861802129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A Fr R8T F1F #T U = #7 30 &7 a9 21 B 3K C, A & FFwer wAw @ @ A & I
e Forer g1 ofg A, B, 3R C o Ty F17 F3d €, & 372 FH W Fa J o 7 a9

Options:

Question Number : 116 Question Id : 5861802130 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Two trains start from A and B and travel towards each other at speeds of 50 km/h and 60 km/h, respectively. When they
meet each other, the second train has travelled 120 km more than the first train. The distance between A and B is:

Options:
1. = 1200 km



? % 720 km

3 % 1230 km

A« 1320km

Question Number : 116 Question Id : 5861802130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar &1 A AR B & o= gt € 3t #3en 50 km/h 3R 60 kmvh @1 I & ve g@X & 3R Ter g 59
T = IR F FEdr §, O g8 & Tger I % Jemer 120 km #UF g 97 w T g gl A
HR B % &= # g &

Options:

1. = 1200 km

2 % 720 km

3. % 1230 km

4. v 1320 km

Question Number : 117 Question Id : 5861802131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WW%Aﬁmm-ﬂsmﬁrsrﬂQﬁ HIOT 60° ¥l 15 Tehg & &5 3z F 1€, 3T FOT
Feereht 30° & F T g1 IfE ZaE ST 200 mis #T IS § 3% @7 8, a7 g9 Fe oE i 9 35
W TEE

Options:

1. %= 1300vV3m




2 & 1500¢/3m

3. % 1500/3m

4. % 1300/v/5m

Question Number : 117 Question 1d : 5861802131 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The angle of elevation of an aeroplane from point A on the ground is 60°. After a flight of 15 seconds horizontally, the
angle of elevation changes to 30°. If the aecroplane is flying at a speed of 200 m/s, then the constant height at which the
aeroplane is flying is:

Options:
1. % 1300vV3m

7 » 1500v/3m

3 % 1500/v3m

/. % 1300/v5m

Question Number : 118 Question Id : 5861802132 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A sprinter runs the first 50 m of a 100-m race in 5 seconds. Thereafter, he increases his speed so as to run half of the
remaining stretch with a speed that is 50% of the speed with which he runs the remaining distance. What should be his
average speed immediately after leaving the 50-m mark, so that he completes the race in 9.5 seconds?

Options:

1. = 825m/s

? « 8.33m/fs



3 % 84mfs

4 = 8.35m/fs

Question Number : 118 Question Id : 5861802132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U UTaF Tk 100-m Fr 2T F 9ger 50 m, 5 FFE H W W AT &1 THF g I¢ HIAT T FLT &
dTfes 9 = g3 alg 1 1T ST I ER A G A el Ay & 50% AT @ T F Fehl 50-m
& TR # 9N & F Jid 916 38 diEa i #7447 g afee, SEd & 9 9.5 d%s F &l @ =
72

Options:

1. = 8.25 mis

7 v 8.33 mis

3w 84 mis

4. = 85 mis

Question Number : 119 Question Id : 5861802133 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The following table shows the number of students who went abroad for higher studies from different states (A to F) over
the years:

1995 | 1996 | 1997 | 1998 | 1999
A 723 840 900 920 925
B 1035 | 940 1200 | 1400 | 1500
C 750 600 830 575 900
D 500 550 450 600 525
E 1500 | 1625 |1700 |1475 |1800
F 300 340 875 025 735
Total | 5308 |5395 |5955 |5895 |6435

The state from which the least number of students went abroad over the given vears is:

Options:



Question Number : 119 Question Id : 5861802133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o= afoeT oo 37 o= #F gEar @ET § S 3= g & forv Bffes o=t (A to F) & e
T

1993 1996 1997 1993 1999
A 723 340 900 920 925
B 1033 940 1200 1400 1500
B 750 600 830 575 900
D 300 550 450 600 525
E 1500 1625 1700 1475 1800
F 800 840 875 025 785
= 5308 5395 5955 5895 6435
]

IE =T g7 & RU av awf & wew &7 o @y v

Options:

1. = A
? = B
3 x C



Question Number : 120 Question Id : 5861802134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following graph shows the demand and production of five companies.

3500 3300

3000
3000 2700
2500 2200
2000 1500
1500 12
1000

1000

500

0
D E

® Demand ® Production

The ratio of the number of companies having more demand than production to the number of those having more
production than demand is:

Options:
1. = 2:3

? % 4:1

3.« 3:2

A = 2:2

Question Number : 120 Question Id : 5861802134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. = 2:3
2 % 4:1
3 ¢ 3:2
4 = 2:2
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General Englishil

Section Id : 586180102

Section Number : 1

Section type: Online
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Number of Questions: 20
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Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 586180137
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5861802135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for
the given group of words.

The art and science of graphically representing a geographical
area

Options:

1. = Cacography

2. = Choreography
3. v Cartography
4. = Geography

Question Number : 121 Question Id : 5861802135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute

for the given group of words.

The art and science of graphically representing a

geographical area



Options:

1. = Cacography
2. = Choreography
3. v Cartography
4, = (Geography

Question Number : 122 Question Id : 5861802136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for
the given group of words.

Very determined and refusing to be defeated by problems

Options:

1. » Vociferous
2. = Impetuous
3. *» Imprudent
4. v Pertinacious

Question Number : 122 Question Id : 5861802136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute

for the given group of words.

Very determined and refusing to be defeated by problems

Options:

1. = Vociferous
2. * |mpetuous

3. # Imprudent



4. v Pertinacious

Question Number : 123 Question Id : 5861802137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

When a study is called , the results can be reproduced
by repeating the in the study.

Options:

1. v reliable, conditions
2. = stable, condiments
3. = verifiable, scenario
4. = indelible, items

Question Number : 123 Question Id : 5861802137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

When a study i1s called , the results can be
reproduced by repeating the In the study.
Options:

1. v reliable, conditions
2. = stable, condiments
3. = verifiable, scenario
4. = Indelible, items

Question Number : 124 Question Id : 5861802138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that best gives the meaning of the
underlined idiom.

Last evening we bought a carpet that cost us an arm and a leg.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. That was very easily available

2. That was very expensive

3. That was very cheap

4. That was not bought with money

Question Number : 124 Question 1d : 5861802138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best gives the meaning of the

underlined idiom.

Last evening we bought a carpet that cost us an arm and a

leg.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. That was very easily avallable
2. That was very expensive
3. That was very cheap

4. That was not bought with money

Question Number : 125 Question 1d : 5861802139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the meaning of the underlined phrase in the following
sentence.

My mother told me off for bullying my sister.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. Extolled

2. Denied

3. Reprimanded
4. Declined

Question Number : 125 Question 1d : 5861802139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the meaning of the underlined phrase in the

following sentence.

My mother told me off for bullying my sister.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. Extolled
2. Denied

3. Reprimanded
4. Declined

Question Number : 126 Question Id : 5861802140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate adjective.

Naresh is very good at judging people and utilising a situation
for his own advantage. He can be described as business
man.

Options:

1. v an astute

2. » an intellectual
3. = a philanthropic
4. = a benevolent

Question Number : 126 Question 1d : 5861802140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate adjective.

Naresh I1s very good at judging people and utilising a
situation for his own advantage. He can be described as

business man.

Options:

1. v an astute

2. * an Intellectual
3. = a philanthropic
4. = a benevolent

Question Number : 127 Question Id : 5861802141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the appropriate phrase to complete the following
conditional sentence.

I would have told Ram the news sooner:

Options:

1. = If I went to meet him in the station

2. = 1If I call him immediately

3. v 1f I had seen him

4. = if you told me where Ram was staying

Question Number : 127 Question Id : 5861802141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the appropriate phrase to complete the following

conditional sentence.

| would have told Ram the news sooner:

Options:

1. = If | went to meet him In the station
2. = If | call hm immediately
3. v If | had seen him

4. = If you told me where Ram was staying

Question Number : 128 Question Id : 5861802142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following conditional sentences is
grammatically correct?

Options:

1. = I would love to go trekking if I am not scared of the forest.



2. » I would have written your assignment if you help me in
my homework.

3. » If she had not studied French in her school days, she will
not be able to join for Masters in France.

4. v Unless John comes soon, we’ll be late for the finals.

Question Number : 128 Question 1d : 5861802142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following conditional sentences is

grammatically correct?

Options:

1. = | would love to go trekking If | am not scared of the

forest.

2. % | would have written your assignment if you help me

In my homework.

3. = If she had not studied French in her school days, she

will not be able to join for Masters in France.

4. v Unless John comes soon, we’'ll be late for the finals.

Question Number : 129 Question Id : 5861802143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the sentence in which the subject correctly agrees
with its verb.

Options:
1. = One of the reasons for Ram’s dismissal are his
carelessness in documentation.

2. » Everyone were planning to go to the office party.
3. » Neither my phone nor my laptop are working properly.



4. v The remains of the martyred soldier were brought to his
native place.

Question Number : 129 Question Id : 5861802143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the sentence in which the subject correctly agrees

with its verb.

Options:

1. = One of the reasons for Ram’s dismissal are his

carelessness in documentation.
2. » Everyone were planning to go to the office party.
3. * Neither my phone nor my laptop are working properly.

4. v The remains of the martyred soldier were brought to

his native place.

Question Number : 130 Question Id : 5861802144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given
options.

Options:

1. = Yesterday she told me that she will visit her aunt today.

2. *» Vinay is a new student in the college. He doesn’t have
much friends.

3. » Despite I was tired, I wrote my exam today.
4. v My cousin arrived in India much later than his father.

Question Number : 130 Question Id : 5861802144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given

options.

Options:



1. *= Yesterday she told me that she will visit her aunt today.

2. = Vinay I1s a new student In the college. He doesn’t have

much friends.
3. = Despite | was tired, | wrote my exam today.

4. v My cousin arrived In India much later than his father.

Question Number : 131 Question Id : 5861802145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are two statements numbered I and II. There may be
cause and effect relationship between them. Or both might be
effects of some independent cause or independent causes.

Choose the appropriate option after reading the following two
statements:

I. The government has a standardised fee structure for all
professional courses in government as well as private
institutions from this year onwards.

I1. Last year, there was a widespread agitation from public
regarding the irregular fee structure for professional courses
in private colleges.

Options:

1. = Statement I is the cause and Statement II is the effect
2. v Statement II is the cause and Statement I is the effect

3. * Both statements are independent causes with no relation
to each other.



4. = Both statements are effects of an independent cause.

Question Number : 131 Question Id : 5861802145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are two statements numbered | and Il. There may be
cause and effect relationship between them. Or both might
be effects of some Iindependent cause or independent

CallSeSs.

Choose the appropriate option after reading the following

two statements:

|. The government has a standardised fee structure for all
professional courses In government as well as private

Institutions from this year onwards.

Il. Last year, there was a widespread agitation from public
regarding the irreqgular fee structure for professional courses

In private colleges.

Options:

1. = Statement | is the cause and Statement |l i1s the effect
2. v Statement |l 1s the cause and Statement | Is the effect

3. = Both statements are independent causes with no

relation to each other.

4. = Both statements are effects of an independent cause.



Question Number : 132 Question 1d : 5861802146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

The environmental board of our country issued an ominous

forecast about the availability of drinking water in the future
the

innovative measures taken by the water board.

Options:

1. = however

2. % as
3. v despite
4. = although

Question Number : 132 Question Id : 5861802146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

The environmental board of our country issued an ominous
forecast about the avallability of drinking water in the future
the

Innovative measures taken by the water board.

Options:

1. = however
2. % as

3. v despite
4, = although

Question Number : 133 Question Id : 5861802147 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in reported
speech.

Anita said, “We went to a restaurant for lunch and then to the
library”.

Options:

1. = Anita replied that they went to a restaurant for lunch and
then to the library.

2. = Anita said that they had gone for lunch to a restaurant
and then had gone to the library.

3. v Anita said that they had gone to a restaurant for lunch
and then to the library.

4, = Anita said that they went to both, restaurant and library.

Question Number : 133 Question Id : 5861802147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence In

reported speech.

Anita said, “We went to a restaurant for lunch and then to

the library”.

Options:

1. = Anita replied that they went to a restaurant for lunch

and then to the library.

2. = Anita said that they had gone for lunch to a restaurant

and then had gone to the library.



3. v Anita said that they had gone to a restaurant for lunch

and then to the library.

4, = Anita said that they went to both, restaurant and library.

Question Number : 134 Question 1d : 5861802148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in passive
voice.

Scientists discovered one major oll deposit in UP.

Options:

1. = Major oil deposit were discovered by scientists.

2. v One major oll deposit was discovered by scientists in UP.
3. » One major oll deposit have been discovered in UP.

4. = Major oll deposit is being discovered by scientists in UP.

Question Number : 134 Question 1d : 5861802148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in

passive voice.

Scientists discovered one major oil deposit in UP.

Options:

1. = Major oil deposit were discovered by scientists.

2. v One major oll deposit was discovered by scientists In
UP.

3. = One major oil deposit have been discovered in UP.



4. = Major oll deposit iIs being discovered by scientists In
UP.

Question Number : 135 Question Id : 5861802149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

A: Aarushi is loving her campus life in Toronto.
B: What! I didn’t abroad!

Options:

1. v even know she has gone
2. » even know she lived

3. = know she has left to

4. = knew she was in

Question Number : 135 Question Id : 5861802149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

A: Aarushi 1s loving her campus life in Toronto.
B: Whatl | didn't abroad!

Options:

1. v even know she has gone
2. * even know she lived
3. = know she has left to

4. = knew she was In

Question Number : 136 Question Id : 5861802150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In which of the following four sentences is the order of the
words correct?

Options:
1. = At the top of the answer script you have to write your
name.

2. = Mr. Kepner is building opposite the hospital his new
office block.

3. » We bought an antique, beautiful watch in Italy.

4. v We will probably be leaving for our hometown this
weekend.

Question Number : 136 Question Id : 5861802150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following four sentences is the order of the

words correct?

Options:

1. = At the top of the answer script you have to write your

name.

2. = Mr. Kepner is building opposite the hospital his new

office block.
3. = We bought an antique, beautiful watch In ltaly.

4, v We will probably be leaving for our hometown this

weekend.

Question Number : 137 Question Id : 5861802151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Sentences of a paragraph are given below. While the first and
the last sentences are in correct order, the sentences in
between are jumbled up. Arrange the sentences in the right
order to form a meaningful and coherent paragraph.

1. Example is so powerful that if it is good, nothing else is
necessary.

P. Moreover we ask for gentleness loudly, and rudely
command courtesy; we advise modesty, and pose as infallible
gods.

(. This is so very apt in parent-children relationships.

R. We counsel temperance, and eat and drink to excess; we
teach amiability, and quarrel publicly.

S. Many a times parents bemoan that their children do not
behave the way they want them to; but most often it is
because we ourselves violate the rules we would have our
children obey.

6. But children learn by what they see us do, not be what we
tell them.

Options:

1. * PQSR
2. v (QSRP
3. = SRQP
4. = RQSP

Question Number : 137 Question Id : 5861802151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Sentences of a paragraph are given below. While the first
and the last sentences are In correct order, the sentences
iIn between are jumbled up. Arrange the sentences In the

rnght order to form a meaningful and coherent paragraph.

1. Example 1s so powerful that if it 1s good, nothing else Is
necessary.

P. Moreover we ask for gentleness loudly, and rudely
command courtesy; we advise modesty, and pose as
Infallible gods.

Q. This I1s so very apt In parent-children relationships.

R. We counsel temperance, and eat and drink to excess;
we teach amiability, and quarrel publicly.

S. Many a times parents bemoan that their children do not
behave the way they want them to; but most often It Is
because we ourselves violate the rules we would have our
children obey.

6. But children learn by what they see us do, not be what

we tell them.

Options:

1. » PQSR
2. v QSRP
3. = SRQP
4., = RQSP



Question Number : 138 Question Id : 5861802152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Sentences of a paragraph are given below. While the first
and the last sentences are In correct order, the sentences
iIn between are jumbled up. Arrange the sentences In the

rnght order to form a meaningful and coherent paragraph.

1. Researchers from National Centre for Biological Sciences
(NCBS), have conducted a memory test to show how
memories change and get updated over time in people with
unipoloar and bipolar depression.

P. Two days later, controls, unipolar and bipolar patients
were split into two groups, and the first group was
prompted to remember what happened on the first day
while the other group did not get this reminder.

Q. All the participants were made to memorise a different
list of everyday objects. On the fifth day, all participants
were asked to recollect the objects from the list shown on
the first day.

R. On the first day of the Memory Test, all the participants
memorised a list of 20 objects.

S. Unipolar and bipolar patients remembered fewer objects
than control group.

6. Such recall 1Is a form of memory updation where new
learning updates older memories, but only when the old

memory IS activated by a reminder.

Options:



1. = PQRS
2. » SPQR
3. = QPRS
4. v RPQS

Question Number : 138 Question Id : 5861802152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Sentences of a paragraph are given below. While the first and
the last sentences are in correct order, the sentences in
between are jumbled up. Arrange the sentences in the right
order to form a meaningful and coherent paragraph.

1. Researchers from National Centre for Biclogical Sciences
(NCBS), have conducted a memory test to show how
memories change and get updated over time in people with
unipoloar and bipolar depression.

P. Two days later, controls, unipolar and bipolar patients
were split into two groups, and the first group was prompted
to remember what happened on the first day while the other
group did not get this reminder.

(. All the participants were made to memorise a different list
of everyday objects. On the fifth day, all participants were
asked to recollect the objects from the list shown on the first
day.

R. On the first day of the Memory Test, all the participants
memorised a list of 20 objects.

S. Unipolar and bipolar patients remembered fewer objects
than control group.

6. Such recall is a form of memory updation where new
learning updates older memories, but only when the old
memory is activated by a reminder.

Options:

1. * PQRS
2. » SPOR
3.« QPRS
4. v RPQS



Question Number : 139 Question 1d : 5861802153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Read and choose the right place (right letter) to insert the
sentence so that the passage would be meaningful:

After Tahiti, the Galapagos were the most famous of all the
tropical islands in the Pacific. [A] They had been discovered in
1535 by Fray Tomas de Berlanga, Bishop of Panama, and were
now owned by Ecuador, 500 odd miles away. Already in the
1830s some sixty or seventy whalers, mostly American, called
there every year for 'refreshments’. [B] After a sumptuous
lunch they usually enjoyed siesta in the shady caves near the
coasts. [C] The whalers then called for mail at Post Office Bay
where a box was set up on the beach. [D] Every whaling
captain took from it any letters which he thought he might be
able to forward.

The sentence to be inserted is:

‘They replenished their water tanks from the springs and
captured tortoises for meat.’

Options:

1. = A
2.v B
3.=C
4, %D

Question Number : 139 Question Id : 5861802153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Read and choose the right place (nght letter) to insert the

sentence so that the passage would be meaningful:

After Tahitl, the Galapagos were the most famous of all the
tropical islands in the Pacific. [A] They had been discovered
in 1535 by Fray Tomas de Berlanga, Bishop of Panama,
and were now owned by Ecuador, 500 odd miles away.
Already In the 1830s some sixty or seventy whalers, mostly
American, called there every year for 'refreshments'. [B]
After a sumptuous lunch they usually enjoyed siesta in the
shady caves near the coasts. [C] The whalers then called
for mail at Post Office Bay where a box was set up on the
beach. [D] Every whaling captain took from it any letters

which he thought he might be able to forward.

The sentence to be Inserted Is:

‘They replenished their water tanks from the springs and

captured tortoises for meat.’

Options:

1. = A
2. v B
3. = C
4. = D



Question Number : 140 Question Id : 5861802154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options when properly rearranged
becomes the answer for the following question?

Did you see my mobile phone which I left on my work station?

Options:

1. = I will not / it and / be seeing it / I didn’t see

2. = To call my friend / her number /I would like / and I don’t
know / to use your phone

3. v Came and / but your friend / yes I saw it / from the table /
took 1t

4. = [ kept / by your house /I don’t think / in the table / my
phone

Question Number : 140 Question Id : 5861802154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options when properly rearranged

becomes the answer for the following question?

Did you see my mobile phone which | left on my work

station?

Options:

1. = | will not / It and / be seeing it / | didnt see

2. » To call my friend / her number { | would like / and |

dont know / to use your phone

3. v Came and { but your friend / yes | saw 1t / from the
table / took it



4. = | kept / by your house f | don’t think / in the table /

my phone

General English?2
Group Number : 8
Group Id: 58618099
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
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Section Id : 586180103
Section Number : 1
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Mandatory or Optional: Mandatory
Number of Questions; 12
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Section Marks: 20

Sub-Section Number: 1
Sub-Section 1d: 586180138
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 5861802155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

A minor accident on the sports ground became fatal/u> to the

player who was hit by a cork ball.

Options:

1. = futile




2. % conclusive
3. = latest
4. v disastrous

Question Number : 141 Question Id : 5861802155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

A minor accident on the sports ground became fatal/u> to

the player who was hit by a cork ball.

Options:

1. = futile

2. % conclusive
3. % |atest

4. v disastrous

Question Number : 142 Question Id : 5861802156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the following words with their respective synonyms.

Column A Column B
(a) Blight (i) dangerous
(b)Indolence (ii) profuse
(c) Hazardous (iii) blot
(d)Prolific (iv) laziness

Options:
1 = a-1i1, b-1, c-11, d-1v

a-iil, b-1v, c-1, d-ii

2.



9 a-1v, b-it, c-1, d-ii1
%

a-1v, b-iit, c-11, d-1

4. =

Question Number : 142 Question Id : 5861802156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the following words with their respective synonyms.

Column A Column B
(a) Blight (i) dangerous
(b)Indolence (ii) profuse
(c) Hazardous (iii) blot
(d)Prolific (iv) laziness

Options:
1 = a-1ii, b-1, c-11, d-iv

a-1ii, b-iv, c-1, d-i1

2.
a-1v, b-11, c-1, d-111
e
4 a-1v, b-11i, c-11, d-1
Eo

Question Number : 143 Question Id : 5861802157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The old man spoke in a raspy voice.

Options:



1. = grave

2. v gravelly
3. % serious
4. = grim

Question Number : 143 Question Id : 5861802157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The old man spoke in a raspy voice.

Options:

1. = grave
2. v gravelly
3. * serious
4. = grim

Question Number : 144 Question Id : 5861802158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for
the given group of words.

Someone who wishes to fight or argue

Options:

1. = garrulous
2. = taciturn

3. ® censure

4. v belligerent

Question Number : 144 Question Id : 5861802158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that can be used as a one-word substitute

for the given group of words.

Someone who wishes to fight or argue

Options:

1. = garrulous
2. % taciturn
3. % censure

4. v belligerent

Question Number : 145 Question Id : 5861802159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

MERCURIAL

Options:

1. = arduous
2. v capricious
3. ® Onerous
4, » wearisome

Question Number : 145 Question Id : 5861802159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

MERCURIAL

Options:

1. = arduous



2. v capricious
3. ® oherous

4. = wearisome

Question Number : 146 Question Id : 5861802160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined
word.

The sprightly girl was the only one left to be interviewed.

Options:

1. = haughty
2. ® responsive
3. v Impassive
4. = objective

Question Number : 146 Question Id : 5861802160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined

word.

The sprightly girl was the only one left to be interviewed.

Options:

1. = haughty
2. % responsive
3. ¥ Impassive
4. = objective

Question Number : 147 Question Id : 5861802161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the underlined
word.

The patience of the audience began to whittle when the
batsmen did not score a single run from the last two overs.

Options:

1. * undermine
2. » erode

3. v increase

4. = disregard

Question Number : 147 Question 1d : 5861802161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined

word.

The patience of the audience began to whittle when the

batsmen did not score a single run from the last two overs.

Options:

1. = undermine
2. * erode

3. ¥ Increase

4. = disregard

Question Number : 148 Question Id : 5861802162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the underlined
word.

The major problem with the school auditorium is that there
are no windows or backstage door, only one route of egress in
case of emergency.

Options:

1. = exit

2. % outlet

3. = Inlet

4. v entrance

Question Number : 148 Question Id : 5861802162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined

word.

The major problem with the school auditorium is that there
are no windows or backstage door, only one route of

egress In case of emergency.

Options:

1. = exit
2. = outlet
3. % Inlet

4. v entrance

Question Number : 149 Question Id : 5861802163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the underlined
word.

My boss was not too impressed with my display of
perspicacity.

Options:

1. v obtuseness

2. = perceptivity
3. % sensitiveness
4. = discernment

Question Number : 149 Question 1d : 5861802163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined

word.

My boss was not too impressed with my display of

perspicacity.

Options:

1. v obtuseness
2. = perceptivity
3. * sensitiveness
4.

% discernment

Question Number : 150 Question Id : 5861802164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the underlined
word.

The students were unable to proceed with their project work
as they found their teacher’s instructions too nebulous.

Options:

1. * amorphous

2. % Inchoate
3. v definite
4. = nascent

Question Number : 150 Question Id : 5861802164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the underlined

word.

The students were unable to proceed with their project work

as they found their teacher’s instructions too nebulous.

Options:

1. * amorphous
2. * Inchoate

3. v definite
4

. % nascent

Sub-Section Number: 2
Sub-Section Id: 586180139
Question Shuffling Allowed : Yes

Question Id : 5861802165 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)



Question Label : Comprehension



Read the given passage and answer the questions that follow.

What is instinct? If we were to believe the latest fashions in
psychology we should reject it as a name for a non-existent
thing; but when we find that those who have thrown instinct
out of the door are dragging it back through the window as
“unlearned response”, we may be content to retain the old
bottles for the old wine, and call with the plain name of
instinct our inherited tendencies to walk and run, to eat and
play, to fight or seek escape, to woo and wed, and love our
children when they come.

These are useful economies of behavior, developed to meet,
without the delays of deliberation, recurrent exigencies in the
career of the race. But they adapt us only to these ancient and
stereotyped situations; they were built up against the needs
and background of our animal and hunting life; and though
they serve us well when there is no time for thought, they
adapt us rather to yesterday than to today. By instinct “we
fear not the carriers of malaria and yellow fever, but thunder
and the dark; we pity not the gifted debarred from education,
but the beggar’s bloody sore; we are less excited by a great
injustice than by a little blood; we suffer more from such
scorn as untipped waiters show than from our own idleness,
ignorance and folly”. Instinct sufficed, perhaps, for the
primitive life of the chase; it is to this, and not to tillage, that
our natural impulses fit us, and for this that we long in our
periodical and youthful desire to “return to nature”. But ever
since civilization began, instinct has been inadequate and life
has called for reason.



Sub questions

Question Number : 151 Question Id : 5861802166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the passage ‘unlearned response’ is:

Options:

1. = a scientific term for our premeditated responses at the
time of crisis

2. = a psychological term for our systematic reaction to
philosophical questions

3. v a scientific term for our natural instincts
4. = an academic term used to describe biographical facts

Question Number : 152 Question 1d : 5861802167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the passage, the author concludes that:

Options:
1. = we need to have our natural instincts to survive in
modern civilisation.

2. v natural instincts are more appropriate for our primitive
life but do not help in modern civilised world.

3. » developed conditioned responses are the same as
unlearned responses of today.

4. = without our natural instincts we will not be able to react
to our everyday problems.

Question Number : 153 Question Id : 5861802168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following sentence mean?

‘We are less excited by a great injustice than by a little blood’

Options:



1. ¥ By Instinct, we tend to react more to personal issues than
other general issues.

2. * We get upset seeing blood but more upset seeing injustice
around us.

3. » We get excited seeing someone commit a crime.

4. = Qur Instincts trigger our anger when we see injustice
happening in front of our eyes

Question Number : 154 Question Id : 5861802169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is an instinct according to the author?

Options:
1. = It is a deliberate behavior at times of emergency

2. % It is a natural behavior formed as a reaction when we see
injustice happening around us

3. = It is the most common behavior found in mankind
against uncommeon criminal elements

4. v Instinct is a spontaneous behavior at times of crisis

Question Number : 155 Question Id : 5861802170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is important to a civilised world?

Options:

1. = Good instincts

2. v Good reasoning skills
3. * Good hunting skills
4. = Good financial skills

Question Id : 5861802165 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the given passage and answer the questions that

follow.

What is instinct? If we were to believe the latest fashions in
psychology we should reject it as a name for a non-existent
thing; but when we find that those who have thrown instinct
out of the door are dragging it back through the window as
“unlearned response”, we may be content to retain the old
bottles for the old wine, and call with the plain name of
Instinct our Iinherited tendencies to walk and run, to eat and
play, to fight or seek escape, to woo and wed, and love

our children when they come.

These are useful economies of behavior, developed to meet,
without the delays of deliberation, recurrent exigencies in the
career of the race. But they adapt us only to these ancient
and stereotyped situations; they were built up against the
needs and background of our animal and hunting life; and
though they serve us well when there iIs no time for
thought, they adapt us rather to yesterday than to today. By
instinct “we fear not the carriers of malaria and yellow
fever, but thunder and the dark; we pity not the gifted
debarred from education, but the beggar's bloody sore; we
are less excited by a great injustice than by a little blood;
we suffer more from such scorn as untipped waiters show
than from our own idleness, ignorance and folly”. Instinct
sufficed, perhaps, for the primitive life of the chase; it is to
this, and not to tillage, that our natural impulses fit us, and
for this that we long In our periodical and youthful desire to
“return to nature”. But ever since civilization began, Instinct

has been inadequate and life has called for reason.



Sub questions

Question Number : 151 Question Id : 5861802166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the passage ‘unlearned response’ Is:

Options:

1. = a scientific term for our premeditated responses at the

time of crisis

2. * a psychological term for our systematic reaction to

philosophical questions
3. v a scientific term for our natural instincts

4. = an academic term used to describe biographical facts

Question Number : 152 Question Id : 5861802167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the passage, the author concludes that:

Options:

1. = we need to have our natural instincts to survive In

modern civilisation.

2. v natural instincts are more appropriate for our primitive

life but do not help iIn modern civilised world.

3. = developed conditioned responses are the same as

unlearned responses of today.

4. = without our natural Iinstincts we will not be able to

react to our everyday problems.

Question Number : 153 Question Id : 5861802168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What does the following sentence mean?

‘We are less excited by a great injustice than by a little
blood’

Options:

1. v By Instinct, we tend to react more to personal issues

than other general issues.

2. » We get upset seeing blood but more upset seeing

Injustice around us.
3. = We get excited seeing someone commit a crime.

4, = Qur Instincts trigger our anger when we see Injustice

happening In front of our eyes

Question Number : 154 Question Id : 5861802169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What Is an instinct according to the author?

Options:

1. = It 1s a deliberate behavior at times of emergency

2. % [t 1Is a natural behavior formed as a reaction when we

see Injustice happening around us

3. %= |t iIs the most common behavior found In mankind

against uncommon criminal elements

4, ¢ Instinct I1s a spontaneous behavior at times of crisis

Question Number : 155 Question Id : 5861802170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What i1s important to a civilised world?

Options:



1. = Good Instincts

2. v (Good reasoning skills

3. » Good hunting skills

4. = Good financial skills
Sub-Section Number: 3
Sub-Section I d: 586180140
Question Shuffling Allowed : Yes

Question Id : 5861802171 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the given passage and answer the questions that follow.

In the later part of the 1990s the Universal Serial Bus (USB)
was invented as a system of exchanging data from one storage
place to another at a relatively fast speed. Today, about 10
billion USB devices are in use, a figure that even stuns its
inventor Ajay Bhatt from Intel. USB has become a common
name everywhere, from schools and offices to hospitals.

Ajay Bhatt was annoyed by the different types of connections
that a PC had and looked for a simpler way of linking
different parts of a computer. He tried to set up a uniform
connection system for all PC parts and other devices.
Although it was difficult for Bhatt to convince computer
makers that he had a good idea, he finally got the approval to
change a computer’s extension system completely.

USB has many advantages. For one, a single port can control
up to 128 devices at once. They are powered by themselves
and you do not have to switch off a device to make USB work.
A USB object installs itself. Just plug it in and the computer
automatically downloads the software you need to make it
work.

When the first USB devices hit the markets in the late 1990s
they were an immediate success. Today's USB 3.0 standard is
over 400 times faster than its original USB 1. Today’s PCs and
laptops have at least 3-4 USB ports. USB connectors can be
found everywhere, on printers, digital cameras, mobile
phones and tablets.

Sub questions



Question Number : 156 Question Id : 5861802172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage what 1s the main use of USB?

Options:

1. = To increase the processing speed of the computer
2. = To convert word files to another format

3. v To transfer data from one device to another

4. = To act as a power source for computer

Question Number : 157 Question Id : 5861802173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What do the following group of words mean?

‘has become a common name everywhere’

Options:

1. = Has become very cheap

2. = Is used only for common purposes

3. » Is preferred by common public, not by technical people
4. v Has become familiar everywhere

Question Number : 158 Question Id : 5861802174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the passage which one of the following is NOT an
advantage of USB?

Options:

1. = It can control upto 128 devices at once
2. v It needs a battery to function

3. = It can power itself

4. = It can install itself

Question Number : 159 Question Id : 5861802175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Based on the passage we can infer that:



Options:

1. v Most of the electronic devices have USB connectors to
transfer data

2. = USB 1s the safest way to transfer data from one device to
another

3. » We cannot have more than one USB port in a computer

4. = The transfer speed of the latest USB is slightly higher than
the earliest USB.

Question Number : 160 Question Id : 5861802176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What was the level of impact of the invention of USB in the
commercial world?

Options:

1. = Very moderate in reality
2. = Not as high as it should have been
3. v Very high in the industry

4. = Considerably low compared to the expectations of the
market

Question Id : 5861802171 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the given passage and answer the questions that

follow.

In the later part of the 1990s the Universal Serial Bus
(USB) was invented as a system of exchanging data from
one storage place to another at a relatively fast speed.
Today, about 10 billion USB devices are in use, a figure
that even stuns its inventor Ajay Bhatt from Intel. USB has
become a common name everywhere, from schools and

offices to hospitals.

Ajay Bhatt was annoyed by the different types of
connections that a PC had and looked for a simpler way of
linking different parts of a computer. He tried to set up a
uniform connection system for all PC parts and other
devices. Although it was difficult for Bhatt to convince
computer makers that he had a good idea, he finally got
the approval to change a computer's extension system
completely.

USB has many advantages. For one, a single port can
control up to 128 devices at once. They are powered by
themselves and you do not have to switch off a device to
make USB work. A USB object installs itself. Just plug it in
and the computer automatically downloads the software you
need to make it work.

When the first USB devices hit the markets in the late
1990s they were an immediate success. Today's USB 3.0
standard is over 400 times faster than its original USB 1.
Today’s PCs and laptops have at least 3-4 USB ports. USB
connectors can be found everywhere, on printers, digital

cameras, mobile phones and tablets.



Sub questions

Question Number : 156 Question Id : 5861802172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage what I1s the main use of USB?

Options:

1. = To Increase the processing speed of the computer
2. = To convert word files to another format
3. v To transfer data from one device to another

4. = To act as a power source for computer

Question Number : 157 Question Id : 5861802173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What do the following group of words mean?

‘has become a common name everywhere’

Options:

1. = Has become very cheap
2. ®» |s used only for common purposes
3. = Is preferred by common public, not by technical people

4, v Has become familiar everywhere

Question Number : 158 Question Id : 5861802174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the passage which one of the following 1s NOT an
advantage of USB?

Options:

1. = |t can control upto 128 devices at once

2. v It needs a battery to function



3. # It can power itself

4. = |t can install itself

Question Number : 159 Question Id : 5861802175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Based on the passage we can infer that:

Options:

1. v Most of the electronic devices have USB connectors to

transfer data

2. » USB I1s the safest way to transfer data from one

device to another

3. = We cannot have more than one USB port In a

computer

4. = The transfer speed of the latest USB is slightly higher
than the earliest USB.

Question Number : 160 Question Id : 5861802176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What was the level of impact of the invention of USB in the

commercial world?

Options:

1. = Very moderate In reality
2. » Not as high as it should have been
3. v Very high in the industry

4, = Considerably low compared to the expectations of the

market



General Hindil

Group Number : 9

Group Id: 586180100

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General Hindil

Section Id : 586180104
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20

Sub-Section Number: 1
Sub-Section 1d: 586180141
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 5861802177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TafSar T sree 3?

Options:

1. # dege
2. % gogd
3. v 28T

4, = Taes

Question Number : 161 Question Id : 5861802177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RIFAr T oeg &7

Options:

1. = dgd



2. % dcdHA
3. v deTaT
4. = e

Question Number : 162 Question Id : 5861802178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

99 & T BT 9T U dogd g7

Options:
1. * Tchel
2. v 3T
3. = 3PR
4. = 3MUTG

Question Number : 162 Question Id : 5861802178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeeT & O e OT osg TR &7

Options:

1. = Udhol

2. v 3TAA
3. * YRR
4. = 3¥Ie

Question Number : 163 Question 1d : 5861802179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & I BT 9T e goaw §?

Options:

1. v gul
2. % T

3. % Ok
4. » IrEC

Question Number : 163 Question Id : 5861802179 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

foesT # & hiel AT I8¢ dcdH &7

Options:

1. ¢ o

2.
3. = Tk
4.

Question Number : 164 Question Id : 5861802180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g # & S oI aTelT 9Iee, g2

Options:

Question Number : 164 Question Id : 5861802180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

far & & g TAd=r drel orse §7

Options:

1. = Udldhol

M

2. = Ycirepol
3. = Ufderel

e

4.&?9‘%@2_0[

Question Number : 165 Question Id : 5861802181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eI — T 9reg, I BT GEI 37 3

Options:

1. * HUST — AT




2. ¢ QAT — DUSI

3. % eI — PUST

4, % QAT — APS]

Question Number : 165 Question Id : 5861802181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RIT - < ersg oA w1 F@E AT &

Options:

1. % HUST - I
2. ¢ QT - HUST
3. % ldlel - SHYSI
4. = YT - SRS

Question Number : 166 Question Id : 5861802182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T YT i I=1T 872

Options:

1. * JhaTd

2. % STddTID

4, * YeTddaTadh

Question Number : 166 Question Id : 5861802182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T TopT W T AT 7
Options:

1. = TgFdaTdh

2. # SIfadr<eh
3. v Hadr<h

4, = gerddardeh



Question Number : 167 Question Id : 5861802183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FAT Thg E-TH DT TIRATIERE [aQqr 37

Options:

1.v3ag
2. % dg
3.« 9T
4. % qr

Question Number : 167 Question Id : 5861802183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIT [ohd TAATH T UATOES [qeyoT 87

Options:

1. v I8
2. = dg
3. % ST
4, = @T

Question Number : 168 Question Id : 5861802184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YRT 28 § GRC Thd YPRX BT @AY g2

Options:
1. » RTET g=aTa=ID
2. % AATEd TEATATID

3. * T[UreITI®
4. v UTHTIT Ferdh

Question Number : 168 Question Id : 5861802184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GRT 32 A GRT T wh &1 Favor §7

Options:

1. = aTteaa g&Iareh




2. = fATead gEITa<Is

3. = JT0TdI<I<h
s |

4. v 9NATT &eTsh

Question Number : 169 Question Id : 5861802185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MY & goia eg &

Options:

1. = heHT
2. % TOgT
3. % CoIHAT
4. v oc-T

Question Number : 169 Question Id : 5861802185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ot & TFA+w aig &

Options:

1. % Shcal
2. « TOga
3. = qddl
4, v dcar

Question Number : 170 Question Id : 5861802186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TG CISHL Tl g aTFd # [shT Tererg g

Options:

1. » 98

2. v CISHT
3. % eldT

4+

Question Number : 170 Question Id : 5861802186 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

‘TE SISHL Toldl & araFd H Tohar faeiyor &

Options:

1. = &
2. v BT
3. = Teldrl

4 = %

Question Number : 171 Question Id : 5861802187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR & T8 feaese gim:

Options:

1. % T+ 39
2. % T+ 3
3.v T +3d
4. % T + 31

Question Number : 171 Question Id : 5861802187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T G ATse ghom:

Options:

1. = 9T + 3ol

2. % 3 + 3
3. v 3 + 37
4. = JT + 3T

Question Number : 172 Question Id : 5861802188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TehTel” § DIF 9T GHTT 372

Options:

1. v ageiilg




2. % JUTY
3. = AT
4, = gg&

Question Number : 172 Question Id : 5861802188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TegHAlITol F hieT T AT &7

Options:
1p. v @l’%
2. % dcdsy

3. = 3CTATHIT
4.

Question Number : 173 Question Id : 5861802189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT H Tehd ITZA BT TN F3AT 32

Options:

1. = 31
2. % 31T
3. v 3MaY
4. = T

Question Number : 173 Question Id : 5861802189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Wn’ﬁﬁmmﬁmuﬁwg&%ﬁ?

1. = 37
2. % 3d
3. v 3T
4



Question Number : 174 Question Id : 5861802190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e # e Ued T U 3 g2

Options:

1. = 3T
2.v g
3. = gcg
4, % 1T

Question Number : 174 Question Id : 5861802190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT H T eI & UM g3 a7

Options:

1. = 3T

2. v I
3. = e
4. = 4T

Question Number : 175 Question Id : 5861802191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & #I I7 srec; ST T 37

Options:

1. = 98¢
2. % qhel
3. % ToIX
4, v 0N

Question Number : 175 Question Id : 5861802191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fodaT # hleT AT ereg TAIToleT 8T &7

Options:

1. % 6T




2. % olhol
3. % dol¥
4., v dHR

Question Number : 176 Question Id : 5861802192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TieT & Wi TIRT Tohd UE= T ISTELT g2

Options:

1. v TAAYUT UeEwer
2. * TIIT UceoI
3. % YT Uce=¢
4. = TohdT Uce=¢

Question Number : 176 Question Id : 5861802192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl & ofT WRT 5T Teaey T SEET &7

Options:

1. v TOAY0T Ucsee

2. % AT USHed
3. = TAATH YTl
4. = TopdT Ucoeel

Question Number : 177 Question 1d : 5861802193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT A dgr T & T’ arag & F uguT Tohd YR &1 3ueay g2

Options:

1. v IT IUATF
2. % {9 SUATERT

3. » ShaT IUaTFT
4. = ToRIT A9 IuaTerg

Question Number : 177 Question Id : 5861802193 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

‘ATeTd o hal ToF & ‘-IG;dIII’ g # H ‘:IE?W: ' TFT P ]
3Ty &7

Options:

1. v HaAT 39dT

2. = TaeIvoT 39drerg

3. = forar 3UaTRT

4, = TohaT TaRINoT 3Uarery

Question Number : 178 Question Id : 5861802194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Tl TSI g1’ Ty YhR &T qTad g2

Options:

1. # 3UdTFy

2. v Gl qTHYT
3. « Ty ard
4. * Y ATF

Question Number : 178 Question Id : 5861802194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Feol INSATT &1’ Topd TP T TTerd &7

Options:

1. = 3Udrery

2. v Il ard

3. = T8 g

4. = FYFT A

Question Number : 179 Question Id : 5861802195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UCSHH T &8 & I 9T a1 e 87

Options:



1. * AT P G W, 3 U]
2. % T3 T AT Pe, g Tl
3. % g WY, ST P g3l W
4. v 3 UY, g3 W AT Pe

Question Number : 179 Question Id : 5861802195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qeshH T TCC A e T AT A &7

Options:

1. = 237 A 7F W), § 74|

2. » FF W AT F, & 79|

3. =« %‘;I‘ag, AT . JqH W

4. v 8 9, HF T AT R

Question Number : 180 Question Id : 5861802196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3~ag Pl &8 F I AT AT e 87

Options:

1. = T9&UT 3 &d® Tal
2. * TQEUT T [EdD Tl
3. v T9IeUT 3 &d@ UGl
4, » T9eUT F TEIP ST

Question Number : 180 Question Id : 5861802196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3eay I TCC & hileT @7 AFT UF &7

Options:

1. » RIedr o qFde T3
2.%1‘3]FCIT?FWWI
3.@1@FQT?FWH€H
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General Hindi2

Group Number : 10
Group Id : 586180101
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi?

Section Id : 586180105

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 12

Number of Questionsto be attempted: 12

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 586180142
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 5861802197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Tefd” T TATICATT g2

Options:

1. =9
2. v U
3. % 8

4. % aguT

Question Number : 181 Question Id : 5861802197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TId T TATEET &7

1. = 3]
2. v I
3. = 9
4. = g

Question Number : 182 Question 1d : 5861802198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THg @1 raigar Tl g:

Options:

1. v IgIAT
2. % Taqq
3. * HEHAR
4, = et

Question Number : 182 Question 1d : 5861802198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

:ﬁ? . $|' w aﬁ-‘ %-_
Options:
1. v Tdedal
.

2. = UHE

2
3. * HEAN
4. = T
Question Number : 183 Question Id : 5861802199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. * &iaT
2. % gd



3. vd<
4, » Tgt

Question Number : 183 Question 1d : 5861802199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘GRET TordeprT JUTIARIT &7

Options:

1. = ENET
2. = &
3. v dog
4, = T&T

Question Number : 184 Question Id : 5861802200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ATl ThgaT TITadTel §?

Options:

1. = gTOT
2. % 3@
3. = T
4. v T

Question Number : 184 Question Id : 5861802200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. = STOT

2. = 3G

3. = TgOT

4. v TRI0T

Question Number : 185 Question 1d : 5861802201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Options:

Question Number : 185 Question Id : 5861802201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T TRt TATERY T8 &7

Options:

1. = T

4. v TIET

Question Number : 186 Question Id : 5861802202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T A U 3
Options:

1. % 9T

2. % [T

3. v qigdr

4, » AT

Question Number : 186 Question Id : 5861802202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT T [aelH elec &

Options:

1. % L&T
2. » TaTaT




3. v ST
4. = T

Question Number : 187 Question 1d : 5861802203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

<9 T e 2N

Options:

1. = dgat
2. v IFE

3. = TaaT
4. = U3

Question Number : 187 Question Id : 5861802203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTHF T TdellH g9

1. = &g

s

2. v ATHa
3. % [@a
4. = A

Question Number : 188 Question Id : 5861802204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Options:

1. v d1g]

2. % Gifdd
3. = 9Ty
4. % YPRI=dT

Question Number : 188 Question Id : 5861802204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Options:

1. v 9T
2. » #HiTd+
3. = gIHg
4.

% YHepNlocld

Question Number : 189 Question Id : 5861802205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TA&h DT BT I=4G EATYA DHIAT ATgUI Ulch h TGiTehd e, T et
SIIT:

Options:

1. * TR
2. % T
3. v faqE
4.« TG

Question Number : 189 Question 1d : 5861802205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TTeTeh PY BT IeHE eIl T ANRT| Ulard oh IW@TThd
oTeg T [AellH BIOT:

Options:

1. = HFAE
2

2. = 3HF
3.#%&@
4. = 9HE

Question Number : 190 Question 1d : 5861802206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘QT T Telelid g

Options:



1. % g
2. % SNh
3. = Torenty
4, v HI®

Question Number : 190 Question Id : 5861802206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T R &
Options:

1. = AR
2. = @R
3. = fasry
4, v AE

Sub-Section Number: 2
Sub-Section I1d: 586180143
Question Shuffling Allowed : Yes

Question Id : 5861802207 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

(Question Label : Comprehension



o & U e el UG U9 T WSHT e Iqa iyl

wTedtar g s we aqha e B g 4
Yligcd 3R TAgMT dl dHTH GERHIaAT 5 GshiAd ThaT eiide T Ut gAY
GERTA ADhAT H TehdT bl IS U 31 S6T ZSTUT HIg SIcs! F e
31T ek TG NUW a1 §AT § T SHBT URATA DI AT YR bl
A=A WA g1 31 4T YRl Bl 31U # FHIRd HLd gU gH TS |
3 &G Tg g1 <Teh, Jel, GUT, HTTlel TS 3T 3T T TH WA FEhid
T Mg-ATMTg YT 8l gl 1hd dieth 39 TReTdd dId DI Aqhel TId
qt T2 Tcden MRATT 3N Fgil T TerdITHenT Y Serd FU §H 31T I
3T FiEpided [A4d Dl I §T M1 g S TSI gH Ta%T &t HZTTh

g th BT 3|

Sub questions

Question Number : 191 Question Id : 5861802208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YA YEPpid il Tererar g

1. = Tl § 3hdl
2. v Fddr # Tad]
3. % ThdT § U]

4. ® 3\HdT # 3\dhdr

Question Number : 192 Question Id : 5861802209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

rguur @ 7Y g

Options:

1. v 3@TST

2. % WgH
3. % qAI
4, = TSt

Question Number : 193 Question Id : 5861802210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

G BT AT 3



Options:

1. = 3T
2. ® N
3. QHCT
4. v 8T

Question Number : 194 Question Id : 5861802211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TadiTuer @r 3re 3

Options:
1. = B9
2. = UIegrE
3. v A9
4. % Fel

Question Number : 195 Question Id : 5861802212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS T 3UGeh <ATUeh g

Options:

1. * IRAIT GCPpia BT IHEAT

2. v IRAIT Gpia B fereraar

3. * URART YEpiad # U BT 3Teregemar
4, » RIS GEHId BT Ta-

Question Id : 5861802207 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension



sirer & 910 JTETer T Teesht I I Wesll & 3o G’
STeeiRT S S W agie g H dept @
HNAR Aifgcd 3T SfAgd 1 TATH AEpiaddl o Hshida o
Afehel T o1 gART EEFTA 31ﬁchd|ﬁuchd|a?rr-|\—rl’l?3r§tr3ﬂ?’r
ST ESTUT AlgeT SNEsl & oehd 37T d#v?J%'H&iUUTEI?ﬁ'J%?ﬁ'%'
dT SHHT THATT HRUT FART HEFIA I FHead Hdel &I &l
Hﬁﬁ@%ﬁaﬁmﬁﬁwﬁﬁmﬁgsﬂmaﬁmm
Tg &1 ueh, Fqe, EUT, Mol TalsT 3 374eT I 3 HRA
FERIT T IME-SME THTIST &1 g1 [ slosh 58 TRAfcd
FIa T IR Tdcal AT TR Ted+F 3MRAT 3 &l skl
i =1 Serd U EH 37T AT 3T e Tarad i
ST & 8T & ek 3ol gH Taeq 1 Ageifed s & Fia &
|

Sub questions

Question Number : 191 Question Id : 5861802208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST TEpter AT fear ¥

Options:

1. = Wehdl H 3odehdl
2. v 3elohdl H Tehdl
3. = Wohdl H Tehdl

4. » 3otohcdl H 3elehcll

Question Number : 192 Question Id : 5861802209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3TEIOUT T 3 &

Options:




4. = ST

Question Number : 193 Question 1d : 5861802210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HHeAY Rl 3T g

Options:

1. = 3meel
2. % oraT

3. ® AT
4. v Al

Question Number : 194 Question Id : 5861802211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTATST T HT &
Options:

1. = 899

2. = &N

3. v AH

4. = ol

Question Number : 195 Question Id : 5861802212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST hT IUYF <SR Elam:

Options:

1. * HRAT HERIT T A

2. v AR TR 1 faerar




3. » ARANT TP H GUR HT TaRIRAT
4. = ALY FEFIA FT Tclel

Sub-Section Number: 3
Sub-Section 1d: 586180144
Question Shuffling Allowed : Yes

Question Id : 5861802213 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

S T&d WU e el UGehd U8 T4 T[T & Iqa Sy
Temefere, Zeme A & uid U 9TaTa 3R Gg=T THA-HTT 7 gL Th
A& g ST TR Dl AT BT 3l I b QI 18T § AT g dhr
UTd BEAT gl TATATCT TR 3T gRT KT Stter o [&aida & uid
7 therel Ueh a&gq@l STBDIT I MTUG! ZIAT §, Tg rar I HedT § [ og
dvelel SIF T BT 51 IULTATUR AT RERT 3l ITDI IRT YA 39 37
g1 g Toh ag a<q[EATa or F=r ehed U i Aregrara, Mot o
TR TEITST ¥ T 34 Yh Tgd §U Siiad & 39 Fe [ohaT-<gTuR
# TS DI Tg IHd B Th ag Wi 39 T ThdT-<ATUR Tl T 9
AT UTSD o gIe Tdh W 3l

Sub questions

Question Number : 196 Question Id : 5861802214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTETTST T eI AU 2

Options:

1. v ZATATT,
2. * QIS
3. % PeATeTe,
4, = THEhATE,

Question Number : 197 Question Id : 5861802215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



YT g oT 3T &

Options:

1.vWEETY

2. % IC(EET
3.« THR&T
4. % YTATIOD &0 4

Question Number : 198 Question Id : 5861802216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘YU T 3 3

Options:

1. * Gag
2. v 3T
3. = g5
4, = oITq

Question Number : 199 Question Id : 5861802217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eIl T8 BT MY g

Options:

1. * helT
2. * ST

3. = Iqvd
4, v e

Question Number : 200 Question 1d : 5861802218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3T’ T 31 BT &

Options:

1. = 3T
2. % HadeT

3.v8%
4, = MU



Question Id : 5861802213 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

ard fad 910 aTeTer F UGHT P A WRaAl & Il AT
Jardare It =™TFoT & Uia Uk ATATT AN J& SHIETATT o
g Th o6 § SN AR kI AT FIAT &1 39 Tk
T o A 319 d@a hl AR HAT &1 JATIATET (HeATh
Y ZaT Afa Siae 1 RAfadr & ufd o hdel U
qEJHET TISCHIVT T JMALT BT &, Tg a1ar 1 FIar & ToF T8
kel S TLAT T 8T SUTATIF IT WERAT g1 3THRT TRT
T 349 mm%%%aﬁﬁwﬁw%ﬂaﬂﬁ?ﬁsﬁ
Aleadrall, oy qor areffee sareanalt 8 Jogeld: 3aged
T8 gV Sildel s 38 §H fohdT-samaR A Ui &l IE 3Heferd
awrﬁh:agﬁsvmﬁﬁm-mmma%ﬁmm
T gl Ueh HEER &

Sub questions

Question Number : 196 Question Id : 5861802214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST T e fawr &

Options:

1. v JATIATG
2. » HHATSAR
3. = <holldlg
4. = Mfocgfeaars

Question Number : 197 Question Id : 5861802215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TcA&TT:” T 3T &

Options:

1. v TUSC T &

2. % 37FUSe 7 &
3.« T &7 I
4. = WTATOR 7 &

Question Number : 198 Question Id : 5861802216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IEYFT FHT 7T
Options:

1. = OSE

2. v O§<€
3. % OiaAS
4. = ST

Question Number : 199 Question Id : 5861802217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Wﬁmmﬁz

Options:

1. = sheldl
2. % el
3. = s
4. v JT

Question Number : 200 Question Id : 5861802218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HEIE’ T 32T &idT &:

Options:



1. = 39T

3. v &
4, = Toorg



